

#### **GENERAL OVERVIEW**

Use:	Educational
Year Built:	1956
Total Area:	89,603 GSF
Floors:	2

#### **MAJOR FINDINGS**

Refer to the following charts for a summary of deficiencies by category and priority score. Note: Lower priority score equals highest urgency.









#### BERKLEY SCHOOLS Comprehensive Academic Spaces, Facilities and Technologies Needs Assessment

#### Norup International School

Addros	: 14450 Manhattan Oak Park Michiaan	Iter	m No. Code	es					Building Deficiencies P	tegory	Notes									
Bldg. A No. of I Year Bu Evalua	rea: 89,603 GSF Floors: 2 jilt: 1956 tion Date: January 2014	AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BI:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology							Consequences of the ProblemNeed1. Hazards1. Critical2. Interruption2. Urgent3. Deterioration3. Necesso4. Utility3. Necesso5. Energy5. Desirable		Frequency of Use1. E1. Constant3. P2. Frequent4. P3. Occasional4. Infrequent5. Meager	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>								
No.	Item/Description	Location	Photo	Cons.	Need	Freq.	Score	e Energ	gy Notes		Action	Qty.	Unit	Architectural	Mech	anical	Electrical	2014 Project Cost		
BUILDIN	G EXTERIOR		110.												UTIII COSI	30010101	0111 COST 30010101	110j001 0031		
BE-1	Overhangs/Soffits	Entire Building	BE-1	3	3	2	8	1	Paint is peeling and steel is rusted.	Provid	e aluminum soffit panels.	1,630	SF	\$ 6.00 \$ 9,780	)			\$ 14,748		
BE-2	Brick Veneer at Base of Walls	Various Locations	BE-2	3	3	2	8		Brick cracked or missing.	Repair	brick.	75	SF	\$ 25.00 \$ 1,875	5			\$ 2,828		
BE-3	Sealant at Door and Window Openings	Entire Building	BE-3	3	3	2	8		Sealant deteriorated and cracked.	Replac	ce sealant.	3,400	LF	\$ 4.75 \$ 16,150	)			\$ 24,354		
BE-4	Steel Doors and Frames	Locker Room Exit Doors	BE-4	3	3	1	7		Deteriorated and rusted.	Replac fibergl	eplace with aluminum frames and berglass reinforced panel doors.			\$ 2,800.00 \$ 11,200	)			\$ 16,890		
BE-5	Curtainwall Panels	North Elevation of Two-Story Wing	BE-5	3	3	2	8		Delaminating, poor condition.	Replac	ce panels.	50	SF	\$ 25.00 \$ 1,250	)			\$ 1,885		
BE-6	Brick Flashing/Weeps	South Elevation at Boy's Locker Room	BE-6	3	3	2	8		Weeps at window head blocked by sealant.	Remov	ve sealant and clear weeps.	40	LF	\$ 7.50 \$ 300	)			\$ 452		
BE-7	Site Drainage	North Elevation	BE-7	2	3	1	6		Roof drainage ponds along face of building.	Add la	ndscape drain tile to storm system.	4,000	SF	\$ 15.00 \$ 60,000	)			\$ 90,480		
																	Subtotal - Building Exterior	\$ 151,637		
BUILDIN	GINTERIOR		r	1	1		-		-			-	1	<b>I</b> 1	-	-	T T			
BI-1	Original Hollow Metal, Wood Doors and Frames	Entire Building	BI-1	4	3	1	8		Deteriorated, nonfunctional and do ne meet current code requirements.	ot Replac metal	ce with wood doors and hollow frames.	110	EA	\$ 2,350.00 \$ 258,500	)			\$ 389,818		
BI-2	Carpet	Corridors	BI-2	3	3	1	7		Carpet reaching life expectancy.	Replac	ce carpet and resilient base.	17,800	SF	\$ 7.00 \$ 124,600	)			\$ 187,897		
BI-3	Casework Cabinets and Countertops	Classrooms	BI-3	3	3	2	8		Poor condition.	Replac	ce cabinets, counter tops and sinks.	. 350	LF	\$ 300.00 \$ 105,000	\$ 21.0	0 \$ 7,350		\$ 169,424		
BI-4	Lockers	Boy's, Girl's and Team Locker Rooms	BI-4A BI-4B	4	5	2	11		Poor condition.	Replac	ce lockers and benches.	600	LF	\$ 550.00 \$ 330,000	)			\$ 497,640		
BI-5	Masonry Wall	Boy's Locker Room	BI-5	3	3	2	8		Horizontal crack in exterior masonry w	all. Repair	masonry.	1	LS	\$ 1,000.00 \$ 1,000	)					
BI-6	Shower Rooms	Boy's and Girl's Locker Rooms	BI-6	4	5	2	11		Rooms are abandoned and in need o updating and repair.	of Reduct heads repair	e/replace number of shower add barrier free shower stall and floor, wall and ceiling finishes.	544	SF	\$ 40.00 \$ 21,760	) \$ 34.00	0 \$ 18,496	\$ 5.00 \$ 2,720	\$ 64,808		
BI-7	Below Stage Storage	Gymnasium	BI-7	4	3	2	9		Doors are in poor condition.	Replac	ce doors.	8	EA	\$ 150.00 \$ 1,200	)			\$ 1,810		
BI-8	Room Security	Head End Room		1	1	1	3		Key type is not unique to authorized st (typical for all buildings).	laff Recore	e door lock.	1	EA	\$ 75.00 \$ 75	5			\$ 113		
																	Subtotal - Building Interior	\$ 1,311,509		
ACCESS	IBILITY IMPROVEMENT/BUILDING CODE		AD 14		1					-			1							
AB-1	Furniture and Equipment	Corridors	AB-TA AB-TB	1	4	1	6		permitted in corridors.	Remov	e furniture and equipment.				_					
AB-2	Stair guardrail	Stairs to 2nd Floor	AB-2	1	4	1	6		Guardrails do not meet current code requirements for height.	Add g	Jardrail.	80	LF	\$ 150.00 \$ 12,000	)			\$ 18,096		
AB-3	Wench, Gears, Cable and Drum	Gymnasium	AB-3	1	4	2	7		Lack protective covers (within reach).	. Add p	rotective covers.	1	LS	\$ 250.00 \$ 250	)			\$ 377		
AB-4	Chair and Table Storage Under Stage	Gymnasium	AB-4	1	4	2	7		Code violation considering current construction of stage.	Limit st	orage to non-combustible items.									
AB-5	Display Case	2nd Floor Corridor	AB-5	1	4	1	6		Height and depth creates a protruding object under barrier free code.	g Add sid	de wings to floor.	1	LS	\$ 200.00 \$ 200	)			\$ 302		
AB-6	Open Stairs	To 2nd Floor	AB-6	1	4	1	6		Fire rated separation required on at le one floor.	east Add fir and fro	e rated separation including doors ames.	2	EA	\$10,000.00 \$ 20,000	)			\$ 30,160		
AB-7	Room Exits	Girls Locker Room		1	4	2	7		Two (2) exits are required only one (1) provided.	is Provide	e exit to exterior.	1	LS	\$10,000.00 \$ 10,000	)		\$ 300.00 \$ 300	\$ 15,532		



#### Norup International School

Address	14450 Manhattan Oak Park Michiaan	Iter	n No. Code	es					Building Deficiencies Pri	egory	Notes								
Bldg. Ar No. of F Year Bu Evaluat	ea: 89,603 GSF loors: 2 ilt: 1956 ion Date: January 2014	AB:     Accessibility Improvement/E       AD:     Academic/Space Deficience       BE:     Building Exterior       BI:     Building Interior       BS:     Building System       ES:     Electrical System       MS:     Mechanical System       PS:     Plumbing System	Building Code cies					1. 2. 3. 4.	Ponsequences of the ProblemNeHazards1.Interruption2.Deterioration3.Utility4.	eed Critical Urgent Necessary ADA	Frequency of Use1.1. Constant3.2. Frequent4.3. Occasional4.4. Infrequent4.	<ul> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ul>							
		SC: Site Circulation SE: Specialty Equipment/Other IT: Technology						5.	Energy 5.	. Desirable	5. Meager								
No.	Item/Description	Location	Photo No.	Cons.	Need	Freq.	Score	Energy	v Notes		Action	Qty.	Unit	Archite Unit Cost	ectural Subtotal	Mechanical Unit Cost Subtotal	Elect Unit Cost	rical Subtotal	2014 Project Cost
AB-8	Room Exits	Gymnasium	AB-8	1	4	2	7		Marked exit has dead bolted door to corridor.	Remov	emove exit sign.		EA	\$ 100.00	\$ 100				\$ 151
AB-9	Room Exits	Gymnasium		1	4	2	7		West portion of Gymnasium only has or available exit when divider curtain is cl	one (1) closed. Curtain	ssure egress to east portion of Symnasium is available when divider urtain is closed.								
AB-10	Room Exits	Orchestra	AB-10A AB-10B	1	4	2	7		Two (2) exits are required only one (1) is provided.	is Rework opposit	c exit to Stage with two (2) te swinging door leafs.	1	LS	\$ 1,500.00	\$ 1,500		\$ 600.00	\$ 600	\$ 3,167
AB-11	Accessible Sink	Art Room	AB-11	1	4	1	6		Wash tub does not provide required accessibility.	Provide	e accessible sink.	1	EA	\$ 150.00	\$ 150				\$ 226
AB-12	Stair Handrail	Stairs to Gymnasium Balcony Boy's Locker Room	AB-12A AB-12B	1	4	2	7		Handrail missing from one side of stair (required on both sides).	Add hc	andrail at wall.	26	LF	\$ 50.00	\$ 1,300				\$ 1,960
AB-13	Boy's and Girl's Toilet Rooms	Various Locations	AB-13	1	4	2	7		Toilet rooms do not meet current accessibility requirements.	Provide floor/w automo	e new plumbing fixtures, lighting, all/ceiling finishes, stalls and atic door operators.	, 1,800	SF	\$ 55.00	\$ 99,000		\$ 3,300.00	\$ 5,940,000	\$ 9,106,812
AB-14	Boy's and Girl's Toilet Rooms	Locker Rooms	AB-14	1	4	2	7		Toilet rooms do not meet current accessibility requirements.	Provide floor/w	e new plumbing fixtures, lighting, all/ceiling finishes and stalls.	225	SF	\$ 55.00	\$ 12,375		\$ 3,300.00	\$ 742,500	\$ 1,138,352
AB-15	Bleacher Guardrails	Gymnasium		1	3	2	6		Open ends of wood bleachers do not guardrails.	t have Add rei of retra	movable guardrails to open enc Ictable bleachers.	<sup>ds</sup> 136	LF	\$ 80.00	\$ 10,880				\$ 16,407
MECHAN																Subtotal - Accessibility Im	provements/B	uilding Code	\$ 10,331,542
MS-1	Building Controls	Entire Building	MS-1	2	2	1	5	Х	Existing controls are outdated.	Provide	new DDC controls throughout.	90.000	SF			\$ 3.32 \$ 298.800			\$ 450,590
MS-2	Domestic Water Heater HTR-1	Boiler Room	MS-2	2	2	1	5	х	Existing Ruud water heater is beyond its useful life.	ts Replac	e with 199 MBH, 80 gallon Ione unit and stack.	1	LS			\$ 5,000.00 \$ 5,000			\$ 7,540
MS-3	Domestic Water Heater HTR-2	Boiler Room	MS-3	3	3	1	7	х	Existing Lochinvar water heater is beyo useful life.	ond its Replac and ne	e with like and kind; 399 MBH un w stack.	nit 1	LS			\$ 7,300.00 \$ 7,300			\$ 11,008
MS-4	Condensate Return System	Boiler Room	MS-4	4	3	1	8	х	Receiver tank and pumps are in poor condition.	Replac	e with packaged receiver syster	m. 1	LS			\$ 9,800.00 \$ 9,800	\$ 1,350.00	\$ 1,350	\$ 16,814
MS-5	Sump Pump	Boiler Room	MS-5	3	3	1	7		Existing duplex sump system is in disrept	pair. Rebuild	l entire duplex sump system.	1	LS			\$ 5,000.00 \$ 5,000	\$ 1,350.00	\$ 1,350	\$ 9,576
MS-6	Boilers	Boiler Room	MS-6	2	2	1	5	х	Existing boilers are beyond their useful I circa 1956.	life; Two (2) and all combu	new boilers at 6,000 MBH each associated trim, new stacks and stion damper control.	d 1	LS			\$ 351,000.00 \$ 351,000	\$ 900.00	\$ 900	\$ 530,665
MS-7	Convectors	Vestibules/Entrances	MS-7	4	4	1	9	Х	Existing convectors are in fair condition	n. Replac	e with like and kind.	6	EA			\$ 2,250.00 \$ 13,500	\$ 185.00	\$ 1,110	\$ 22,032
MS-8	Unit Ventilators - Heating and Ventilating	Entire Building	MS-8	3	2	1	6	х	Existing heating and ventilating only horizontal unit ventilators are beyond th useful life.	their Replac	e with new vertical ducted units	s. 35	EA			\$ 23,000.00 \$ 805,000	\$ 235.00	\$ 8,225	\$ 1,226,343
MS-8A	Unit Ventilators - HVAC	Entire Building		5	5	1	11	х	Existing unit ventilators are heating and ventilating only.	d Install n ventilat	new vertical ducted DX HVAC ur tors.	nit 35	EA	\$ 7,500.00	\$ 262,500	\$ 27,000.00 \$ 945,000	\$ 2,373.00	\$ 83,055	\$ 1,946,157
MS-9	Kitchen Hood	Kitchen	MS-9	4	4	1	9		Main kitchen hood is beyond its useful l	life. Replac	e with new stainless steel hood emical fire suppression system.	1	LS			\$ 14,500.00 \$ 14,500	\$ 400.00	\$ 400	\$ 22,469
MS-10	Refrigeration Compressors	Kitchen	MS-10	2	2	1	5	х	Existing compressors use domestic wate and are not code compliant.	ter Replac	e with new air-cooled units.	3	EA			\$ 6,500.00 \$ 19,500	\$ 350.00	\$ 1,050	\$ 30,989
MS-11	Locker Rooms Heating and Ventilating Units	Boy's and Girl's Locker Rooms	MS-11	4	4	4	12		Existing ceiling hung units are in fair condition.	Replac distribu	e with like and kind; new tion ductwork.	2	EA			\$ 9,500.00 \$ 19,000	\$ 185.00	\$ 370	\$ 29,210
MS-12	Rooftop Unit RTU-1	Roof	MS-12	4	4	1	9	х	Existing unit is beyond its useful life.	Replac HVAC u	e with like and kind; 7,000 CFM unit.	1	EA			\$ 28,800.00 \$ 28,800	\$ 6,212.00	\$ 6,212	\$ 52,798
MS-13	Rooftop Units RTU-2 and RTU-3	Roof	MS-13	4	4	2	10	х	Existing unit is beyond its useful life.	Replac of 1,800	e with like and kind; average size and 3,000 CFM.	2e 1	EA			\$ 13,000.00 \$ 13,000	\$ 3,230.00	\$ 3,230	\$ 24,475
MS-14	Gym Heating and Ventilating Units	Gym Mechanical Rooms	MS-14	5	5	1	11		Existing gym indoor heating and ventile air handling units are in fair to poor condition.	Replac 5,000 C	e with like and kind; approximat FM at enclosed space.	te 2	EA			\$ 40,000.00 \$ 80,000	\$ 500.00	\$ 1,000	\$ 122,148

#### Norup International School

Address	ss: 14450 Manhattan Oak Park Michigan		Iter	m No. Code	es					Building Deficiencies Priorities by Category				Notes								
Bldg. Area: 89,603 GSF No. of Floors: 2 Year Built: 1956 Evaluation Date: January 2014		AB: AD: BE: BI: BS: ES: MS:	Accessibility Improvement/B Academic/Space Deficienc Building Exterior Building Interior Building System Electrical System Mechanical System	Building Code cies					1. 2. 3. 4.	Insequences of the Problem     Nee       Hazards     1. C       Interruption     2. U       Deterioration     3. N       Utility     4. A	ed Critical Jrgent Necessary ADA	Frequency of Use       1.         1. Constant       2.         2. Frequent       3.         3. Occasional       4.	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>									
		PS: SC: SE: IT:	Plumbing System Site Circulation Specialty Equipment/Other Technology						5.	Energy 5. D	Desirable	5. Meager										
No.	Item/Description		Location	Photo No.	Cons.	. Need	Freq.	Score	Energy	Notes		Action	Qty.	Unit	Architectural Unit Cost Subtotal	Mechanical Unit Cost Subtotal	Electrico Unit Cost	al Subtotal	20 Projec	14 .t Cost		
MS-14A	A Gym HVAC				5	5	1	11	x	Existing gym units are heating and ventilating only.	Add two new insul ductwork each.	(2) new DX rooftop units with ated supply and return x; approximately 6,000 CFM	2	EA	\$19,000.00 \$ 38,000	\$ 51,000.00 \$ 102,000	\$ 8,010.00 \$	5 16,020	\$2	35,278		
MS-15	Roof Exhaust Fans	Roof		MS-15	4	4	1	9		Existing roof exhaust fans are in fair to po condition.	oor Install nev size of 600	w roof exhaust fans; average 0 CFM.	6	EA		\$ 3,250.00 \$ 19,500	\$ 175.00 \$	5 1,050	\$	30,989		
MS-16	Head End Air Conditioning	Head E	nd Room		4	5	1	10		Some issues with existing unit.	Install nev approxim	Install new split air conditioning unit; approximately 1.5-tons.				\$ 8,500.00 \$ 8,500	\$ 500.00 \$	500	\$	13,572		
PLUMBIN	G SYSTEMS	-											-	-	· ·	Sub	total - Mechanico	al Systems	\$ 3,4	34,164		
PS-1	Domestic Water Pipe	Entire B	uilding		2	3	1	6		75% of domestic water pipe is galvanized steel.	ed Replace	with copper pipe.	55,000	SF	\$ 0.50 \$ 27,500	\$ 3.25 \$ 178,750			\$ 3	511,025		
PS-2	Water Meter Isolation Valves	Boiler R	oom	PS-2	2	3	5	10		Existing gate valves are in fair to poor conditions.	Replace	two (2) 3" gate valves.	2	EA		\$ 1,830.00 \$ 3,660			\$	5,519		
PS-3	Investigate Possible Waste Pipe Pitch Problem	Kitcher	1		3	3	1	7		Possible waste pipe pitch problem near kitchen.	Investiga	te and fix problem.	1	LS		\$ 5,000.00 \$ 5,000			\$	7,540		
PS-4	Electric Water Cooler	Entire B	uilding	PS-4	3	3	1	7		Existing ceramic bubblers are in fair to po condition.	oor Replace/ cooler.	upgrade to new electric water	r 6	EA	\$ 750.00 \$ 4,500	\$ 3,000.00 \$ 18,000	\$ 1,200.00 \$	7,200	\$	44,78		
PS-5	Sanitary Pipe	Entire B	uilding	PS-5	5	5	1	11		Existing sanitary pipe is in fair condition.	Replace confined	accessible portions; some spaces.	5,000	SF	\$ 0.50 \$ 2,500	\$ 4.35 \$ 21,750			\$	36,569		
PS-6	Investigate Water Issue Under Gym Floor	Gym			3	3	1	7		Moisture problems on gym floor.	Investiga	te and fix problem.	1	LS	\$ 7,500.00 \$ 7,500	\$ 7,500.00 \$ 7,500			\$	22,620		
BUILDING	S SYSTEMS																oubtotal - Plumbing	g Systems	<u>Ş</u> 4	28,06		
BS-1	Fire Alarm System	Entire B	uilding		2	1	1	4		Existing system is outdated and difficult to maintain.	to Install nev	w addressable system.	1	LS			\$ 89,603.00 \$	89,603	\$ 1	35,121		
BS-2	Emergency Lighting	Corrido Media	ors, Gym, Locker Rooms, Center		1	3	4	8		Spacing of existing battery units exceeds requirements.	Install nev	w units in existing fixtures.	90	EA			\$ 300.00 \$	5 27,000	\$	40,716		
BS-3	Boiler Room EPO	Boiler R	oom		3	3	3	9		Boiler does not have an emergency pow off system as required by code.	wer Install boi system.	iler room emergency power off	f 1	LS		\$ 2,720.00 \$ 2,720			\$	4,102		
FLECTRIC	*AI \$Y\$TEM\$																Subtotal - Building	g Systems	\$ 1	79,939		
ES-1	Electrical Distribution System	Boiler R	oom		2	3	1	6		Original electrical distribution equipment obsolete and a safety concern.	t is Replace	the original distribution nt with new.	1	EA			\$ 32,350.00 \$	32,350	\$	48,784		
ES-2	Electrical Panels	Corrido	ors to Serve Classrooms		2	5	1	8		Original electrical panels are obsolete an are sometimes located behind doors.	and Replace	the original panels with new,	15	EA			\$ 4,875.00 \$	5 73,125	\$ 1	10,273		
ES-3	Electrical Receptacles	Child U	se Areas		1	3	2	6		Electrical receptacles in child care cente are required to be inaccessible to childre	rers Replace ren. resistant t	all receptacles with tamper ype receptacles.	20	EA			\$ 55.00 \$	5 1,100	\$	1,659		
ES-4	Original Lighting Fixtures	Classro	oms		3	3	1	7	х	Original lighting fixtures with obsolete T12 fluorescent lamps.	2 Replace	fixtures with more efficient T8.	14	EA			\$ 6,000.00 \$	84,000	\$ 1	26,672		
ES-5	Original Lighting Fixtures	Locker	Rooms		3	3	4	10	х	Original lighting fixtures with inefficient incandescent lamps.	Replace	fixtures with more efficient T8.	2	EA			\$ 9,000.00 \$	18,000	\$	27,144		
ES-6	Exit Lighting Fixtures	Classro	oms		4	3	4	11	х	Rooms over 1,000 SF require two (2) exits with exit signs.	Add exits	signs.	20	EA			\$ 300.00 \$	6,000	\$	9,048		
ES-7	Exterior Lighting	Exterior	Doors		1	2	2	5	Х	Lighting fixtures are in disrepair.	Replace	with more efficient LED fixtures.	10	EA			\$ 520.00 \$	5,200	\$	7,842		
ES-8	Site Lighting	Parking Main O	l Lot		3	5	3	11	Х	Inadequate lighting. Maintain operation during power	Replace Provide 5	with more efficient LED fixtures. kVA UPS to serve Key Fob entry	10 y, 1	EA FA	\$ 6,000.00 \$ 60,000		\$ 6,960.00 \$ \$ 11.300.00 \$	69,600	\$ 1 \$	95,43		
					1 '	5				interruptions	PA and P	hones	· ·				φ 11,000.00 φ		ľ			
																	SUDIDIDI - Electrico	ai systems	ې 5	43,898		

#### Norup International School

Address	: 14450 Manhattan Oak Park Michiaan		Iter	m No. Code	es					Building Deficienc	by Category	Notes									
Bldg. Ar No. of F Year Bu Evaluat	ea: 89,603 GSF loors: 2 ilt: 1956 ion Date: January 2014	AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BI:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology								Consequences of the Problem . Hazards . Interruption . Deterioration . Utility . Energy	Need 1. Criticc 2. Urgen 3. Neces 4. ADA 5. Desira	It       1. Constant       1.         1. Constant       2.       3.         2. Frequent       3.       Occasional         4. Infrequent       5.       Meager	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>								
No.	Item/Description		Location	Photo No.	Cons.	Need	Freq.	Score	Energ	y Notes		Action	Qty.	Unit	Archit	ectural Subtotal	Mecho	nical Subtotal	Elect	rical Subtotal	2014 Project Cost
ACADEN	I I I I I I I I I I I I I I I I I I I														0111 0031	30010101	0111 0031	30010101	01111 0031	30010101	
AD-1	New Fine Arts Wing	Building Ad	ddition		4	3	1	8		Existing space is inadequate.		Build new fine arts wing. This will free up the current art spaces for new uses such as sensory rooms, kindergarten rooms, work rooms, storage, etc.	<sup>٦</sup> 6,075	SF	\$ 225.00	\$1,366,875					\$ 2,061,248
AD-2	Dedicated Cafeteria	Building Ad	ddition		4	3	1	8		Existing building lacks dedicated of	cafeteria.	Build new cafeteria.	6,250	SF	\$ 250.00	\$1,562,500					\$ 2,356,250
AD-3	Large Group Instruction Renovation	Existing Fin	ne Arts Wing		4	3	1	8		Existing building lacks dedicated la instructional space.	arge	Renovate existing fine arts wing to be large group instruction.	2,500	SF	\$ 125.00	\$ 312,500					\$ 471,250
AD-4	New Science Lab	Building Ad	ddition		4	3	1	8		Existing building lacks dedicated s lab.	cience	Build new science lab.	1,620	SF	\$ 300.00	\$ 486,000					\$ 732,888
AD-5	New Language Lab	Building Ad	ddition		4	3	1	8		Existing building lacks dedicated lab.	anguage	Build new language lab.	1,620	SF	\$ 200.00	\$ 324,000					\$ 488,592
AD-6	Additional General Classrooms (8)	Building Ad	ddition		4	3	1	8		Building is currently beyond capac expected to grow significantly in t future.	city and he near	Build (8) new classrooms.	9,000	SF	\$ 200.00	\$1,800,000					\$ 2,714,400
																		Subtotal - Acc	Idemic/Space	Deficiencies	\$ 8,824,628
SC-1	Parking	Site			4	4	1	9		Quantity of parking is inadequate		Add additional parking to the site. Figur shown to the right is an allowance.	re 1	LS		\$ 175,000					\$ 263,900
SC-2	Student Drop-off	Site			4	4	1	9		Student drop-off is inadequate.		Add/modify student drop-off to the site. Figure shown to the right is an allowanc	e. <sup>1</sup>	LS		\$ 125,000					\$ 188,500
	Subtotal - Site Circulation \$ 452,400																				
TECHNO	LOGY	1		1	1	1	<u> </u>		-		r		-	1	r	[ ]		1			
11-1		<u>]</u>		<u> </u>	1	I	I		I	<u> </u>			]	I	<u>I</u>	<u> </u>		1	Tec	hnology Total	\$ 1,470,018

Note: Shaded items are shown for reference only and not included in the deficiency total.

	-	1	-	-	
N	o	Т	е	51	
	•		-	•	

Total Project Cost \$ 27,127,795



















BI-4A



BI-4B









AB-1A



AB-1B















AB-10A



AB-10B





AB-12A



AB-12B







MS-1






























PS-2



PS-4



PS-5



ES-1



ES-2A



ES-2B



ES-2C



ES-4A



ES-4B



ES-5



#### **GENERAL OVERVIEW**

Use:	Elementary School
Year Built:	1925
Total Area:	46,314 GSF
Floors:	2 plus basement

#### MAJOR FINDINGS

Refer to the following charts for a summary of deficiencies by category and priority score. Note: Lower priority score equals highest urgency.









Addrog	r: 3540 Morrison Borklov, Michigan		Iten	n No. Code	es					Building Deficienc	ies Priorities	by Category						Not	es			
Bldg. A No. of Year Bi Evalua	rea: 46,314 GSF Floors: 2 plus Basement Jilt: 1925 tion Date: January 2014	AB:     Accessibility In       AD:     Academic/Sp       BE:     Building Exteric       BI:     Building Interic       BS:     Building System       ES:     Electrical Syste       MS:     Mechanical Sy       PS:     Plumbing System       SC:     Site Circulation       SE:     Specialty Equit       IT:     Technology	nprovement/8 vace Deficienci or m em ystem em n ipment/Other	uilding Code						Consequences of the Problem 1. Hazards 2. Interruption 3. Deterioration 4. Utility 5. Energy	Need 1. Critica 2. Urgent 3. Neces 4. ADA 5. Desiral	Frequency of Us       1. Constant       2. Frequent       3. Occasional       4. Infrequent       5. Meager	3 <b>e</b> 1. 2. 3. 4.	Energy co Lower sco Project Cc Project Cc	umn "X" re equal st incluc st incluc	refers to items s higher priorit es 50.8% mark es 20.5% mark	s that have an y. k-ups and fees k-ups and fees	energy consum for Facility Con- for technology.	ption impact, ei dition Analysis.	ther increase or de	,crease.	
				Photo			_	6								Archi	tectural	Мес	hanical	Elect	rical	2014
INO.	nem/Description	Localion		No.	Cons.	need	rieq.	SCOLE	Energ	gy Notes		Action		Qiy.	Unii	Unit Cost	Subtotal	Unit Cost	Subtotal	Unit Cost	Subtotal	Project Cost
BUILDIN	G EXTERIOR	Fucking Dudlating at		DE 1	2	2	0		-					1.450	0.5	t (00		T		1		t 1210
BE-1	Stope Veneer	Entire Building		BE-1	3	3	2	8		Paint is peeling and steel is rusted.	. 1	Provide diuminum sottit par Poplaco stopo	iels.	1,450	2F	\$ 6.00	\$ 3,700			-	'	\$ 13,120
BE-3	Sealant at Door and Window Openings	Entire Building	ice.	BE-3	3	3	2	8		Sealant deteriorated and cracked	d I	Replace sealant		3 500	IF	\$ 75.00	\$ 16.625				<sup> </sup>	\$ 25.07
BE-4	Roof Fascia	West Elevation at Boil	iler Room	BE-4	2	2	2	6	Γ	Poor condition, deteriorated, wat from roof causing leak in Boiler Ro	er draining pom.	Repair/replace fascia, corre drainage, repair wall in Boile clean brick.	ect roof er Room,	1	LS	\$ 2,000.00	\$ 2,000	,				\$ 3,016
BE-5	Brick Veneer at Parapet	East Elevation		BE-5	3	3	2	8		Brick mortar joints missing and cra	icked.	Tuck point mortar joints.		350	SF	\$ 25.00	\$ 8,750	)				\$ 13,195
BE-6	Entrance Canopy Soffits	Building Entrances		BE-6	3	3	2	8		Deteriorated and paint is peeling.		Provide aluminum soffit par	nels.	950	SF	\$ 7.50	\$ 7,125	i			ļ'	\$ 10,745
BE-7	Brick Veneer	Various Locations		BE-7	3	3	2	8		Brick and mortar joints deteriorate roof water drainage onto wall.	ed from	Control roof drainage wher and clean/tuck point brick.	e possible	100	SF	\$ 10.50	\$ 1,050					\$ 1,583
BE-8	Steel Stair/Ramp Railings	Media Center Stair an West Gym Exit Stair	nd Ramp,	BE-8A BE-8B	3	3	2	8	L	Paint is peeling and steel is rusted	. F	Paint railings.		100	LF	\$ 8.00	\$ 800					\$ 1,206
BE-9	Metal Stair Treads	East Building Entrance	e	BE-9	1	2	2	5		Treads are rusted and concrete is deteriorated.	i f	Replace with aluminum tree concrete.	ads and repo	air 36	LF	\$ 60.00	\$ 2,160					\$ 3,257
BE-10	Stone Window Sills	Various Locations		BE-10	4	3	2	9	-	Deteriorated, sealant missing.	-	Replace sills and sealant.		75	LF	\$ 30.00	\$ 2,250	)		-	<b> </b> '	\$ 3,393
BE-11	Site Drainage	West and North Eleve	ations	BE-11	2	3	1	6		Roof drainage ponds along face building.	of ,	Add landscape drain tile to	storm systen	n. 2,640	SF	\$ 15.00	\$ 39,600			Subtotal Puil	Iding Exterior	\$ 59,717
BUILDIN	G INTERIOR																			30010101 - 801		\$ 137,737
BI-1	Original Wood Doors and Frames	Entire Building		BI-1	4	3	1	8		Deteriorated, nonfunctional and on meet current code requirements.	do not li I	Replace with wood doors c metal frames.	and hollow	70	EA	\$ 2,350.00	\$ 164,500					\$ 248,066
BI-2	Plastic Laminate Counter Tops	Classrooms		BI-2	4	3	2	9		Delaminating.	F	Replace with solid surface r	material.	300	LF	\$ 150.00	\$ 45,000	\$ 69.	00 \$ 20,700	1	<b> </b> '	\$ 99,076
BI-3	Carpet	Corridors		BI-3	3	3	1	7	_	Carpet reaching life expectancy.		Replace carpet and resilien	nt base.	6,340	SF	\$ 1.00	\$ 6,340				<b> </b> '	\$ 9,561
BI-4	Water Leak	Basement Stair		BI-4A BI-4B	3	3	3	9		Water leaking through wall deterion wall and steps.	orating I	Repair water leak.		1	LS	\$ 1,500.00	\$ 1,500				ļ	\$ 2,262
BI-5	Room Security	Head End Room			1	1	1	3		Key type is not unique to authorize (typical for all buildings).	ed staff	Recore door lock.		1	EA	\$ 75.00	\$ 75					\$ 113
ACCESS																				Subtotal - Bui	ding Interior	\$ 359,077
AB-1	Built-in Storage Cabinet	Corridor		AB-1	1	4	1	6		Cabinet do not have required fire doors.	e rated	Provide fire rated door and	frame.	1	EA	\$ 2,350.00	\$ 2,350			1		\$ 3,544
AB-2	Classroom Exits	B113 and B115, A124 A119	and A123,	AB-2	1	4	1	6		Combined rooms with folding par open requires 2 exits. Doors are n enough from each other.	rtition ot remote	Provide additional exit door	to corridor.	5	EA	\$ 7,500.00	\$ 37,500	,		\$ 300.00	\$ 1,500	\$ 58,812
AB-3	Stair Handrail	East Exterior Entrance	e Stair	AB-3	1	4	1	6		Handrails not provided at stair.	/	Add handrail.		10	LF	\$ 50.00	\$ 500					\$ 754
AB-4	Stair Guardrail	Stairs to 2nd Floor		AB-4	1	4	1	6		Guardrails do not meet current co requirements for height.	ode ,	Add guardrails.		64	LF	\$ 150.00	\$ 9,600					\$ 14,477
AB-5	Chair and Table Storage Under Stage	Gymnasium			1	4	2	7		Code violation considering curren construction of stage.	nt I	Limit storage to non-combu	ustible items.									



Address: 3540 Morrison, Berkley, Michigan Blda, Area: 46.314 GSE			Iter	m No. Code	s					Building Deficienci	ory	Notes												
Bldg. Ar No. of F Year Bu Evaluat	ea: 46,314 GSF loors: 2 plus Basement ilt: 1925 ion Date: January 2014	AB: AD: BE: BI: BS: ES: MS: PS: SC: SC:	Accessibility Improvement/ Academic/Space Deficience Building Exterior Building Interior Building System Electrical System Plectrical System Plumbing System Site Circulation Specialty Environment/Other	Building Code cies					1. 2. 3. 4. 5.	onsequences of the Problem Hazards Interruption Deterioration Utility Energy	Need 1. Critic 2. Urger 3. Nece 4. ADA 5. Desire	al nt sssary able	Frequency of Use1.1. Constant3.2. Frequent4.3. Occasional4.4. Infrequent5. Meager	Energy col Lower sco Project Cc Project Cc	lumn "X" re equa ost incluc	refers to items s higher priority les 50.8% mark les 20.5% mark	that have an e '. -ups and fees f -ups and fees f	energy consump for Facility Cond for technology.	tion impact, eil	her increase or	decrease.			
		IT:	Technology	echnology																				
No.	Item/Description		Location	Photo No.	Cons.	Need	Freq.	Score	Energy	y Notes			Action	Qty.	Unit	Archite Unit Cost	ectural Subtotal	Mech Unit Cost	anical Subtotal	Elec Unit Cost	trical Subtotal	2014 Project Cost		
AB-6	Kiln	Receiv	ing Room B143	AB-6	1	4	2	7		Kiln area in room with instructional rooms are required to be 1-hour fi and sprinklered.	use. Kiln e rated	Assure kiln for instruc and stainl	i is not in use when room is use tional purposes. Add sprinkler ess steel exhaust hood.	ed s 1	LS	\$ 4,500.00	\$ 4,500	\$ 7,500.0	0 \$ 7,500	\$ 1,350.0	) \$ 1,350	) \$ 20,132		
AB-7	Classroom Exits	Kinderç	garten B112		1	4	1	6		Room sizes dictates requirement for Exits are not remote enough from other.	or 2 exits. each	Provide a	dditional exit door to corridor.	1	EA	\$ 7,500.00	\$ 7,500			\$ 300.0	5 \$ 300	) \$ 11,762		
AB-8	Room Exit	Gymno	asium	AB-8	1	4	1	6		Required exit doors to corridor have code compliant deadbolt, door h and no latching hardware.	ve non- olders	New door item BI-1.	and frame to be provided by											
AB-9	Boy's and Girl's Toilet Rooms	Various	s Locations	AB-9	1	4	2	7		Toilet rooms do not meet current accessibility requirements.		Provide ne floor/wall, automatic	ew plumbing fixtures, lighting, /ceiling finishes, stalls and c door operators.	1,920	SF	\$ 40.00	\$ 76,800	\$ 27.0	0 \$ 51,840	\$ 4.2	5 \$ 8,064	\$ 206,150		
																		Subtotal - A	Accessibility Ir	provements/	Building Code	\$ 315,630		
MS-1	Building Controls	Entire B	Buildina	MS-1	2	2	1	5	Х	Existing pneumatic controls are ou	tdated.	Provide ne	ew DDC controls throughout.	46.000	SF	1		\$ 3.3	0 \$ 151.800	1		\$ 228,914		
MS-2	Steam Trap Maintenance	Entire B	Building		3	4	1	8	Х	Existing traps vary in age and con-	dition.	Replace o	older traps in poor condition.	1	LS			\$ 18,500.0	0 \$ 18,500			\$ 27,898		
MS-3	Pipe Insulation	Entire B	Building	MS-3	4	4	1	9	х	Large sections of missing insulation and condensate pipe.	ı on steam	Install nev	v insulation and labels.	150	LF			\$ 9.0	0 \$ 1,350			\$ 2,036		
MS-4	Classroom UV - Heating and Ventilation Only	Entire B	Building	MS-4	3	3	1	7	х	Horizontal unit ventilators are in po condition.	or	Provide ne ventilators	ew vertical ducted unit 3.	12	EA	\$ 7,500.00	\$ 90,000	\$ 23,000.0	0 \$ 276,000	\$ 235.0	) \$ 2,820	) \$ 556,181		
MS-4A	Classroom Vertical UV - HVAC	Entire B	Building		5	5	1	11	х	Existing horizontal unit ventilators of heating and ventilation only.	re	Provide ne vertical du	ew self-contained DX HVAC ucted unit ventilators.	28	EA	\$ 7,500.00	\$ 210,000	\$ 27,000.0	0 \$ 756,000	\$ 2,373.0	) \$ 66,444	\$ 1,556,926		
MS-5	Gym HVAC	Gym			5	5	1	11	Х	existing gym units are neating and ventilation only.		ton unit a	v DX roottop unit, approximate nd new insulated ductwork.	95 1	EA	\$18,000.00	\$ 18,000	\$ 53,000.0	0 \$ 53,000	\$ 8,010.0	\$ 8,010	\$ 119,147		
MS-6	Office HVAC	Office			3	3	2	8	х	Office area lacks proper ventilatic	n.	Provide ne approxime thru wall.	ew DX cassette unit, ate 2.5-ton unit; fresh air ducte	ed 1	EA	\$ 1,200.00	\$ 1,200	\$ 17,500.0	0 \$ 17,500	\$ 2,787.0	) \$ 2,787	7 \$ 32,402		
MS-7	Corridor Heating and Ventilation Units	Roof		MS-7	4	4	2	10	х	Three rooftop units are beyond the life.	eir useful	Replace v 3,000 CFM	with like and kind; approximate 1 each.	e 3	EA			\$ 27,000.0	0 \$ 81,000	\$ 3,230.0	) \$ 9,690	) \$ 136,761		
MS-7A	Corridor HVAC	Roof			5	5	1	11	х	Existing rooftop units are heating of ventilation only.	Ind	Replace v tons each	with HVAC; approximate 7.5-	3	EA	\$ 3,000.00	\$ 9,000	\$ 35,100.0	0 \$ 105,300	\$ 4,500.0	\$ 13,500	\$ 192,722		
MS-8	Roof Exhaust Fans	Roof			4	4	1	9		Existing roof exhaust fans/roof hoc beyond their useful life.	ds are	Provide ne hoods, av	ew roof exhaust fans/roof erage size is 600 CFM.	3	EA			\$ 3,250.0	0 \$ 9,750	\$ 175.0	525	5 \$ 15,495		
MS-9	Domestic Water Heater	Boiler R	Room	MS-9	3	2	1	6	х	A. O. Smith water heater is in poor		Replace v	with like and kind; 199,100 Btuh	n. 1	EA			\$ 5,000.0	0 \$ 5,000			\$ 7,540		
MS-10	Domestic Water Heater	Boiler R	Room	MS-10	3	2	1	6	х	Bryant water heater is in poor con	dition.	Replace v floor mou	with like and kind; 1,890 MBH nted unit.	1	EA			\$ 34,000.0	0 \$ 34,000			\$ 51,272		
MS-11	Head End Air Conditioning	Head E	End Room		4	5	1	10		Some issues with existing unit.		Install new approxime	v split air conditioning unit; ately 1.5-tons.	1	EA			\$ 8,500.0	0 \$ 8,500	\$ 500.0	500	) \$ 13,572		
	CSYSTEMS																		Sul	ototal - Mecho	nical Systems	\$ 2,247,924		
PS-1	Sump Pump/Drain Tile	South E	Basement	PS-1	3	3	5	11		Stairs to basement show signs of w damage.	ater	Add drain this area.	tile and sump pump to serve	1	LS			\$ 12,800.0	0 \$ 12,800	\$ 1,200.0	) \$ 1,200	) \$ 21,112		
PS-2	Sump Pump	Basem	ent South Fan Room	PS-2	3	3	5	11		Existing sump system is single pump commercial and is in disrepair.	o, light	Replace v duplex su	with heavy duty commercial mp system.	1	LS			\$ 4,400.0	0 \$ 4,400	\$ 1,200.0	) \$ 1,200	) \$ 8,445		
PS-3	Domestic Water Pipe	Entire B	Building	PS-3	2	3	1	6		80% of existing domestic water pip galvanized steel.	e is	Replace v	with copper pipe.	30,000	SF	\$ 0.50	\$ 15,000	\$ 3.2	5 \$ 97,500			\$ 169,650		
PS-4	Water Meter Isolation Valves	Boiler R Room	coom and South Fan	PS-4	2	3	5	10		Existing gate valves at two (2) wat are in poor condition.	er meters	Replace t	hree (3), 3" gate valves.	6	EA			\$ 2,750.0	0 \$ 16,500			\$ 24,882		

Address	3540 Morrison Berkley Michigan		Iter	Item No. Codes								Building Deficiencies Priorities by Category						Notes									
Bldg. Ar No. of Fl Year Bui Evaluati	ea: 46,314 GSF oors: 2 plus Basement It: 1925 on Date: January 2014	AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         Bill Building Interior       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology							1 2 3 4 5	Consequences of the ProblemNeed1. Hazards1. Critica2. Interruption2. Urgen3. Deterioration3. Neces4. Utility4. ADA5. Energy5. Desira			Frequency of Use 1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>													
No.	Item/Description		Location	Photo No.	Cons.	Need	Freq.	Score	Energ	gy Notes			Action	Qty.	Unit	Archite Unit Cost	ectural Subtotal	Mechanical Unit Cost Subtotal	Electi Unit Cost	ical Subtotal	2014 Project Cost						
PS-5	Sanitary Pipe	Entire I	Building	PS-5	3	3	1	7		Sanitary pipe is in poor condition.		Replace	accessible portions.	10,000	SF	\$ 0.50	\$ 5,000	\$ 4.25 \$ 42,500	)		\$ 71,630						
PS-6	Water Cooler	Main (	Corridor		4	4	1	9		Existing bubblers are in fair to poor conditions.		Replace	with new bi-level water cool	ers. 4	EA	\$ 250.00	\$ 1,000	\$ 3,000.00 \$ 12,000	\$ 1,200.00	\$ 4,800	\$ 26,842						
				•		-	-	•		•		•		•	-	•	•	•	Subtotal - Plumb	oing Systems	\$ 322,561						
BUILDING		<b>I</b>							I	Existing system is outdated and dif	ficult to	<u></u>							4 00 575 00								
BS-1	Fire Alarm System	Entire I	Building		2	3	3	8		maintain		Install nev	v addressable system	1	LS				\$ 99,575.00	\$ 99,575	\$ 150,159						
BS-2	Emergency Lighting	Corrid	ors, Gym, Media Center		1	3	4	8		Spacing of existing battery units ex requirements	ceeds	Install nev	v units in existing fixtures	50	EA				\$ 300.00	\$ 15,000	\$ 22,620						
BS-3	Boiler Room EPO	Boiler F	Room		3	3	3	9		Boiler room does not have an eme	ergency ode	Install Boil	er Room EPO system.	1	LS			\$ 2,720.00 \$ 2,720	)		\$ 4,102						
																			Subtotal - Build	ling Systems	\$ 176,881						
ELECTRIC	AL SYSTEMS	1		1	<del>1</del>	1	1		-	Original electrical distribution equi	omont is	Poplaga	he original distribution	- 1	1			1	1		1						
ES-1	Electrical Distribution System	Boiler F	Room	ES-1	2	3	1	6		obsolete and a safety concern.	pmeni is	equipmer	ne original astribution nt with new.	1	EA				\$ 24,500.00	\$ 24,500	\$ 36,946						
ES-2	Electrical Panels	Corrid	ors to Serve Classrooms	ES-2	2	5	1	8		Original electrical panels are obso are sometimes located behind do	lete and ors.	Replace larger pa	he original panels with new, nels in new locations.	8	EA				\$ 4,875.00	\$ 39,000	\$ 58,812						
ES-3	Electrical Receptacles	Child l	Jse Areas		1	3	2	6		Electrical receptacles in child care are required to be inaccessible to	e centers children.	Replace of resistant t	all receptacles with tamper pe receptacles.	20	EA				\$ 55.00	\$ 1,100	\$ 1,659						
ES-4	Exit Lighting Fixtures	Classro	ooms		4	3	4	11	х	Rooms over 1,000 SF require 2 exits signs.	with exit	Add exit s	igns.	4	EA				\$ 300.00	\$ 1,200	\$ 1,810						
ES-5	Exterior Lighting	Exterio	r Doors	ES-5A	1	2	2	5	х	Lighting fixtures are in disrepair.		Replace	vith more efficient LED fixture	es. 7	EA				\$ 520.00	\$ 3,640	\$ 5,489						
ES-6	Site Lighting	Oaksh	ire Ave Parking		3	5	3	11	Х	Inadequate lighting.		Install effi	cient LED fixtures.	4	EA	\$ 6,000.00	\$ 24,000		\$ 6,960.00	\$ 27,840	\$ 78,175						
ES-7	Uninterruptible Power Supply	Main (	Office		1	3	4	8		Maintain operation during power interruptions		Provide 5 PA and Pl	kVA UPS to serve Key Fob er nones	ntry, 1	EA				\$ 11,300.00	\$ 11,300	\$ 17,040						
				•										•		•			Subtotal - Electr	ical Systems	\$ 199,931						
ACADEM	New Fine Arts Wing	Buildin	g Addition		4	3	1	8		Existing space is inadequate.		Build new the currer as sensory work roor	fine arts wing. This will free u It art spaces for new uses su rooms, kindergarten rooms ns, storage, etc.	np ch ,	SF	\$ 225.00	\$1,366,875				\$ 2,061,248						
AD-2	Dedicated Cafeteria	Buildin	g Addition		4	3	1	8		Existing building lacks dedicated c	afeteria.	Build new	cafeteria.	6,250	SF	\$ 250.00	\$1,562,500				\$ 2,356,250						
AD-3	New Large Group Instruction	Buildin	g Addition		4	3	1	8		Existing building lacks dedicated la instructional space.	arge	Build new	large group instruction suite	e. 2,500	SF	\$ 200.00	\$ 500,000				\$ 754,000						
AD-4	New Science Lab	Buildin	g Addition		4	3	1	8		Existing building lacks dedicated s lab.	cience	Build new	science lab.	1,620	SF	\$ 300.00	\$ 486,000				\$ 732,888						
AD-5	Main Office	Classro	oom Module		4	3	1	8		Office is in an existing classroom m	nodule.	Switch mo entry.	ain office with classroom neo	or 2,160	SF	\$ 125.00	\$ 270,000				\$ 407,160						
																		Subtotal - Ac	ademic/Space	Deficiencies	\$ 6,311,546						
SC-1	Parking	Site			4	4	1	9		Quantity of parking is inadequate.		Add addi shown to	tional parking to the site. Fig the right is an allowance.	jure 1	LS		\$ 175,000				\$ 263,900						
SC-2	Student Drop-off	Site			4	4	1	9		Student drop-off is inadequate.		Add/moc Figure sho	ify student drop-off to the sit wn to the right is an allowar	re. 1 nce. 1	LS		\$ 125,000				\$ 188,500						
		•		-	•	-	-	-		•		-			•	•	•		Subtotal - Site	e Circulation	\$ 452,400						

Address: 2540	Marison Barklay Michigan		Ite	m No. Code	es					Building Deficie	ncies Prioritie	s by Cate	gory					
Address, 33407 Bldg. Area: 46, No. of Floors: 2 Year Built: 1925 Evaluation Date	e: January 2014	AB: AD: BE: BI: BS: ES: MS: PS: SC: SE: IT:	Accessibility Improvement/ Academic/Space Deficien Building Exterior Building Interior Building System Electrical System Mechanical System Plumbing System Site Circulation Specialty Equipment/Other Technology	Building Code cies	•				1. 2. 3. 4. 5.	onsequences of the Problem Hazards Interruption Deterioration Utility Energy	Need 1. Critic 2. Urget 3. Nece 4. ADA 5. Desire	al nt essary able	Frequency of Use 1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager	1. En 2. Lo 3. Pro 4. Pro	ergy coli wer scor oject Co oject Co	umn "X" i e equals st includ st includ	refers to items : higher priority es 50.8% mark es 20.5% mark	that have /. -ups and -ups and
No	Itom (Description		Logation	Photo	Con	Nood	Frog	Seere	Enora	Notos			Action		Otv	Unit	Archit	ectural
190.	nem/Description		Localion	No.	Cons	. Need	Fieq.	SCOLE	Energ	y Notes			ACTION		Qiy.	Unii	Unit Cost	Subto
TECHNOLOGY		_		_	_	_				<u>.</u>		_				_	_	
IT 1 Defende	Tab 10 for broakdown																	

Note: Shaded items are shown for reference only and not included in the deficiency total.

	Notes											
ave an e	e an energy consumption impact, either increase or decrease.											
nd fees f nd fees f	d fees for Facility Condition Analysis. d fees for technology.											
1l	Mecha	nical	Electr	rical	2014							
ototal	Unit Cost	Subtotal	Unit Cost	Subtotal	Project Cost							
			Tecl	hnology Total	\$ 759,823							

Total Project Cost \$ 11,285,731
















BE-8A



BE-8B









BI-1



BI-2



BI-3



BI-4A



BI-4B





























PS-2



PS-4



PS-5



ES-1



ES-2



ES-5A



ES-5B

#### **ROGERS ELEMENTARY SCHOOL**



#### **ROGERS ELEMENTARY SCHOOL**

#### **GENERAL OVERVIEW**

Use:	Elementary School
Year Built:	1953
Total Area:	37,222 GSF
Floors:	1

#### MAJOR FINDINGS

Refer to the following charts for a summary of deficiencies by category and priority score. Note: Lower priority score equals highest urgency.









#### **Rogers Elementary School**

Address	: 2265 Hamilton Berkley Michigan	Item No. Codes							Building Deficiencies Priorities by Category				Notes										
Address: 2265 Hamilton, Berkley, Michigan Bldg. Area: 37,222 GSF No. of Floors: 1 Year Built: 1953 Evaluation Date: January 2014		AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BI:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology						1. 2. 3. 4. 5.	Consequences of the ProblemNeed1. Hazards1. Critic2. Interruption2. Urge3. Deterioration3. Nec4. Utility4. ADA5. Energy5. Desi		Frequency of Use       1         1. Constant       3         2. Frequent       4         3. Occasional       4         4. Infrequent       5. Meager	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>											
No.	Item/Description	Location	Photo No.	Cons.	Need	Freq.	Score	Energy	y Notes		Action	Qty.	Unit	Archit Unit Cost	ectural Subtotal	Mech Unit Cost	anical Subtotal	Elect Unit Cost	trical Subtotal	2014 Project Cost			
BUILDING	G EXTERIOR									•													
BE-1	Overhangs/Soffits	Entire Building	BE-1	3	3	2	8		Paint is peeling and steel is rusted.	Provide	e aluminum soffit panels.	4,070	SF	\$ 6.00	\$ 24,420					\$ 36,825			
BE-2	Brick Veneer at Base of Walls	Where roofs drain to pavement adjacent to walls	BE-2	3	3	2	8		Brick and mortar joints deteriorated fro roof water drainage.	om Control and tuc	l roof drainage where possible ck point brick.	250	SF	\$ 10.50	\$ 2,625					\$ 3,959			
BE-3	Sealant a Door and Window Openings	Entire Building		3	3	2	8	_	Sealant deteriorated and cracked.	Replace	e sealant.	2,700	LF	\$ 4.75	\$ 12,825					\$ 19,340			
BE-4	Steel Lintels at Wall Openings	Media Center	BE-4	3	3	2	8	_	Steel is rusted.	Paint lin	ntels.	120	SF	\$ 10.50	\$ 1,260					\$ 1,900			
BE-5	Steel Stair/Ramp Railings	Kitchen Exit	BE-5	3	3	2	8	_	Paint is peeling and steel is rusted.	Paint ra	illings.	10	LF	\$ 10.00	\$ 100					\$ 151			
BE-6 BE-7	Metal stair Treads Steel Doors and Frames	Entire Building	BE-6 BE-7	3	3	1	4		Deteriorated and rusted.	Replace Replace fibergla	e with aluminum treads. e with aluminum frames and 13s reinforced panel doors.	16	EA	\$ 2,800.00	\$ 900 \$ 44,800					\$ 1,357 \$ 67,558			
BE-8	Entrance Canopy Soffits	Building Entrances	BE-8	3	3	2	8		Wood is deteriorated and paint is peel	eling. Provide	e aluminum soffit panels.	585	SF	\$ 7.50	\$ 4,388					\$ 6,616			
BE-9	Clerestory Windows	Classrooms - South Wing	BE-9	4	4	2	10		Single glazed glass.	Replace insulatin	e with aluminum frames and ng glass.	250	SF	\$ 80.00	\$ 20,000					\$ 30,160			
BE-10	Site Drainage	Building Perimeter	BE-10	2	3	1	6	_	Roof drainage ponds along building fo	ace. Add lar	ndscape drain tile system.	7,500	LF	\$ 15.00	\$ 112,500					\$ 169,650			
BE-11 BE-12	Canopy Gutter Aluminum Windows	West Entrance Entire Building Excluding Media Center	BE-11	3	3 5	2	8		Gutter is damaged. Windows have operational issues and hardware is difficult to obtain.	Replace	e gutter and downspout. e and replace aluminum windo	1 ws. 5,040	LS SF	\$ 600.00 \$ 80.00	\$ 600 \$ 403,200					\$ 905 \$ 608,026			
	•				•	-						-	-		•		•	Subtotal - Bui	ilding Exterior	\$ 946,447			
BUILDING	SINTERIOR	-	1	-	-	-				1			r —	1			1	1	1				
BI-1	Original Wood Doors and Frames	Entire Building	BI-1	4	3	1	8		Deteriorated, nonfunctional and do no meet current code requirements.	ot Replace metal fr	e with wood doors and hollow rames.	60	EA	\$ 2,350.00	\$ 141,000					\$ 212,628			
BI-2	Plastic Laminate Counter Tops	Classrooms		4	3	2	9		Delaminating.	Replace new sin	e with solid surface material and iks with point of use TMV.	d 290	LF	\$ 150.00	\$ 43,500	\$ 74.0	0 \$ 21,460			\$ 97,960			
BI-3	Carpet	Corridors	BI-3	3	3	1	7		Carpet reaching life expectancy.	Replace	e carpet and resilient base.	7,130	SF	\$ 7.00	\$ 49,910					\$ 75,264			
BI-4	Steel Stair	Boiler Room	BI-4	1	3	1	5		Stair treads and post are rusted.	Replace	e treads and post.	1	LS	\$ 750.00	\$ 750		+			\$ 1,131			
BI-5	Room Security	Head End Room		1	1	1	3		(typical for all buildings).	Recore	door lock.	1	EA	\$ 75.00	\$ 75					\$ 113			
ACCESS													_					SUDIOIAI - BU	liaing interior	ə 387,096			
AB-1	Furniture and Equipment	Corridors	AB-1	1	4	1	6		Loose furniture and equipment not permitted in corridors.	Remove	e furniture and equipment.												
AB-2	Boy's and Girl's Toilet Rooms	Various locations	AB-2	1	4	2	7		Toilet rooms do not meet current accessibility requirements.	Provide floor/we autome	e new plumbing fixtures, lighting, all/ceiling finishes, stalls and atic door operators.	700	SF	\$ 40.00	\$ 28,000	\$ 27.00	0 \$ 18,900	\$ 4.20	\$ 2,940	\$ 75,159			
AB-3	Chair and Table Storage Under Stage	Gymnasium	AB-3	1	4	2	7		Code violation considering current construction of stage.	Limit sto	prage to non-combustible items.												
AB-4	Fire Extinguisher Cabinets	Entire building	AB-4	1	4	2	7		Mounted too high above the floor.	Mounte	extinguishers lower.	1	LS	\$ 500.00	\$ 500					\$ 754			
AB-5	Emergency Egress	Former Video Production Room Now Used As Classroom		1	3	2	6		Student occupied room without code required emergency egress.	e Add en modific	nergency egress window (requir ations to masonry wall).	res 1	LS	\$ 2,600.00	\$ 2,600					\$ 3,921			
																Subtotal - A	ccessibility Ir	nprovements/B	uilding Code	\$ 79,834			


#### **Rogers Elementary School**

Address: 2265 Hamilton, Berkley, Michigan Bldg. Area: 37,222 GSF No. of Floors: 1 Year Built: 1953 Evaluation Date: January 2014		Iter	m No. Code	es					Building Deficiencies Prior	Notes										
		AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BI:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         PS:       Plumbing System							HazardsNeeconsequences of the ProblemHazards1. CrInterruption2. UrDeterioration3. Neeconseconseconseconseconseconseconsecon	Frequency of Use       ical     1. Constant       ent     2. Frequent       cessary     3. Occasional       A     4. Infrequent       sirable     5. Meager	<ol> <li>Energy col</li> <li>Lower scor</li> <li>Project Cc</li> <li>Project Cc</li> </ol>	y column "X" refers to items that have an energy consumption impact, either increase or decrease. • score equals higher priority. • Cost includes 50.8% mark-ups and fees for Facility Condition Analysis. • Cost includes 20.5% mark-ups and fees for technology.								
		SC: Ste Circulation SE: Specialty Equipment/Other IT: Technology																		
No.	Item/Description	Location	Photo No.	Cons.	Need	Freq.	Score	Energy	/ Notes	Action	Qty.	Unit	Archited Unit Cost	ctural Subtotal	Mechar Unit Cost	nical Subtotal	Electi Unit Cost	ical Subtotal	2014 Project Cost	
MECHAN	ICAL SYSTEMS		•										•							
MS-1	Building Controls	Entire Building	MS-1	2	2	1	5	Х	Existing controls are outdated.	Provide new DDC controls throughout	ut. 37,000	SF			\$ 3.32	\$ 122,840			\$ 185,243	
MS-2	Boilers	Boiler Room	MS-2	2	2	1	5	х	Existing boilers are 61 years old; beyond their useful life.	Two (2) new boilers at 1,500 MBH each New HWH pumps. New HWH mains a combustion air intake and stacks.	h. and 1	LS			\$ 251,000.00	\$ 251,000	\$ 2,700.00	\$ 2,700	\$ 382,580	
MS-3	HWH Pumps	Boiler Room	MS-3	2	2	1	5		Five (5) base mounted end suction pump are in poor condition.	Replace with like and kind with all associated trim.	2	EA			\$ 15,600.00	\$ 31,200	\$ 1,350.00	\$ 2,700	\$ 51,121	
MS-4	Pipe Insulation	Entire Building	MS-4	4	4	4	12	Х	Several areas of missing piping insulation.	Install new pipe insulation.	150	LF			\$ 3.25	\$ 488			\$ 735	
MS-5	Gym Air Handling Unit	Fan Room South of Stage	MS-5	4	4	1	9	х	Existing indoor heating and ventilating on unit is in poor condition.	Replace with like and kind; approxime 4,000 CFM.	ate 1	LS			\$ 39,000.00	\$ 39,000	\$ 3,360.00	\$ 3,360	\$ 63,879	
MS-5A	Gym HVAC	Roof		5	5	1	11	х	Existing gym unit is heating and ventilating only.	Add DX rooftop unit with new distribut ductwork.	tion 1	LS			\$ 51,067.00	\$ 51,067	\$ 6,750.00	\$ 6,750	\$ 87,188	
MS-6	Roof Mounted Heating and Ventilating Units	Roof	MS-6	4	4	1	9	Х	Eight (8) heating and ventilating rooftop units are beyond their useful life.	Replace with like and kind; 3,000 CFM	1. 8	EA			\$ 22,000.00	\$ 176,000	\$ 3,230.00	\$ 25,840	\$ 304,375	
MS-6A	Roof Mounted HVAC	Roof		5	5	1	11	Х	Existing roottop units are heating and ventilating only.	Replace existing units with HVAC and insulated ductwork.	8	EA	\$ 3,000.00	\$ 24,000	\$ 35,000.00	\$ 280,000	\$ 5,455.00	\$ 43,640	\$ 524,241	
MS-7	Roof Hoods and Exhaust Fans	Roof		4	4	2	10		Five (5) existing hoods or relief exhaust far are in poor condition.	Replace with like and kind.	5	EA			\$ 3,300.00	\$ 16,500	\$ 175.00	\$ 875	\$ 26,202	
MS-8	Office HVAC	Roof		5	5	2	12	Х	Office rooftop unit is beyond its useful life.	Replace with like and kind; 6-ton unit.	. 1	EA			\$ 27,000.00	\$ 27,000	\$ 4,500.00	\$ 4,500	\$ 47,502	
MS-9	Media Center HVAC	Roof		5	5	2	12	X	Office rooftop unit is beyond its useful life.	Replace with like and kind; 7.5-ton un	nit. 1	EA			\$ 27,000.00	\$ 27,000	\$ 5,275.00	\$ 5,275	\$ 48,671	
MS-10	Media Center Perimeter HVAC	Roof		5	5	2	12	Х	Office rooftop unit is beyond its useful life.	Replace with like and kind; 6-ton unit.	. 1	EA			\$ 27,000.00	\$ 27,000	\$ 4,500.00	\$ 4,500	\$ 47,502	
MS-11	Head End Air Conditioning	Head End Room		4	5	1	10		Some issues with existing unit.	Install new split air conditioning unit; approximately 1.5-tons.	1	EA			\$ 8,500.00	\$ 8,500	\$ 500.00	\$ 500	\$ 13,572	
Subtotal - Mechanical Systems \$ 1,414,556																				
PLUMBIN	G STSIEMS	Miscollapoour	1		2	1	4		2097 ovisting actuarized pipe	Paplace with copper pipe	7.400	CE.	і – т		¢ 2.05	\$ 24.050		1	\$ 2/ 2/7	
PS_2	Water Meter Isolation Valves	Boiler Room	 PS_2	2	3	5	10		Existing gate values are in poor condition	Replace three (3) 3" gate values	7,400	FA			\$ 1,830,00	\$ 24,030			\$ 38,287	
PS-3	Water Cooler	Main Corridor	PS-3	4	4	1	9		Single bubbler in main corridor.	Install new bi-level electric water cooler.	1	EA			\$ 3,900.00	\$ 3,900	\$ 1,200.00	\$ 1,200	\$ 7,691	
																:	ubtotal - Plum	oing Systems	\$ 52,237	
BUILDING	SYSTEMS																			
BS-1	Fire Alarm System	Entire Building		2	3	3	8		Existing system is outdated and difficult to maintain.	Install new addressable system.	1	LS					\$ 80,027.00	\$ 80,027	\$ 120,681	
BS-2	Emergency Lighting	Corridors, Gym, Media Center		1	3	4	8		Spacing of existing battery units exceeds requirements.	Install new units in existing fixtures.	40	EA					\$ 300.00	\$ 12,000	\$ 18,096	
BS-3	Boiler Room Emergency Power Off	Boiler Room		3	3	3	9		Missing emergency power off system as required by Code.	Install new EPO system.	1	LS			\$ 2,720.00	\$ 2,720			\$ 4,102	
FLEGTRIC	Subtotal - Building Systems \$ 142,878																			
ELECTRIC	AL STSIEMS	1	ES 1A						Original electrical distribution equipment	Poplage the original distribution	1	-						1	1	
ES-1	Electrical Distribution System	Boiler Room	ES-TA ES-TB	2	3	1	6		original electrical astribution equipment i obsolete and a safety concern.	equipment with new.	1	EA					\$ 24,500.00	\$ 24,500	\$ 36,946	
ES-2	Electrical Panels lack space for new circuits	Corridors		2	5	1	8		are sometimes located behind doors.	larger panels in new locations.	́б	EA					\$ 4,875.00	\$ 29,250	\$ 44,109	
ES-3	Electrical receptacles	Child Use Areas		1	3	2	6		Electrical receptacles in child care center are required to be inaccessible to children	Replace all receptacles with tamper resistant type receptacles.	20	EA					\$ 55.00	\$ 1,100	\$ 1,659	
ES-4	Exit Lighting Fixtures	Classrooms		4	3	4	11	Х	Rooms over 1000 SF require 2 exits with existing signs.	Add exit signs.	6	EA					\$ 300.00	\$ 1,800	\$ 2,714	

#### **Rogers Elementary School**

Address: 2265 Hamilton, Berkley, Michigan		Ite	m No. Code	€S					Building Deficiencies Price	Notes									
Bldg. Area: 37,222 GSF No. of Floors: 1 Year Built: 1953 Evaluation Date: January 2014		AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BS:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology							Consequences of the ProblemNeedFrequency of Use1. Hazards1. Critical1. Constant2. Interruption2. Urgent2. Frequent3. Deterioration3. Necessary3. Occasional4. Utility4. ADA5. Desirable5. Energy5. Meager			<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>							
No.	Item/Description	Location	Photo No.	Cons.	Need	Freq.	Score	Energy	Notes		Action	Qty.	Unit	Archit Unit Cost	ectural Subtotal	Mechanical Unit Cost Subtotal	Electr Unit Cost	ical Subtotal	2014 Project Cost
ES-5	Exterior Lighting	Exterior Doors	ES-5A ES-5B	1	2	2	5	х	Lighting fixtures are in disrepair.	Replace	Replace with more efficient LED fixtures.		EA				\$ 520.00	\$ 4,160	\$ 6,273
ES-6	Site Lighting	Parking Lot		3	5	3	11	Х	Inadequate lighting.	Replace	with more efficient LED fixture	es. 4	EA	\$ 6,000.00	\$ 24,000		\$ 6,960.00	\$ 27,840	\$ 78,175
ES-7	Storage in Electrical Rooms	Main Electrical Room	ES-7A ES-7B	4	5	5	14		Code violation. Store stuff elsewh		f elsewhere.								
ES-11	Uninterruptible Power Supply	Main Office		1	3	4	8		Maintain operation during power         Provide 5 kVA UPS to serve Key F           interruptions         PA and Phones		kVA UPS to serve Key Fob er hones	ntry, 1	EA				\$ 11,300.00	\$ 11,300	\$ 17,040
	Subtotal - Electrical Systems \$ 186,917																		
ACADEM	IC/SPACE DEFICIENCIES	Building Addition		4	3	1	8		Existing space is inadequate.	Build new the curre as sensor work roor	/ fine arts wing. This will free unt art spaces for new uses sury rooms, kindergarten rooms, ms, storage, etc.	up ich 6,075	SF	\$ 225.00	\$1,366,875				\$ 2,061,248
AD-2	Dedicated Cafeteria	Building Addition		4	3	1	8		Existing building lacks dedicated cafete	eria. Build new	/ cafeteria.	6,250	SF	\$ 250.00	\$1,562,500				\$ 2,356,250
AD-3	New Large Group Instruction	Building Addition		4	3	1	8		Existing building lacks dedicated large instructional space.	Build new	/ large group instruction suite	e. 2,500	SF	\$ 200.00	\$ 500,000				\$ 754,000
AD-4	New Science Lab	Building Addition		4	3	1	8		Existing building lacks dedicated scienc lab.	e Build new	v science lab.	1,620	SF	\$ 300.00	\$ 486,000				\$ 732,888
AD-5	Kindergarten	Old Music Room		4	3	1	8		Existing building short a kindergarten roo	om. Renovate kinderga	e music room to be a rten.	700	SF	\$ 100.00	\$ 70,000				\$ 105,560
AD-6	Main Office	Classroom Module		4	3	1	8		Office is in an existing classroom module.		ain office with classroom nec	ar 2,160	SF	\$ 125.00	\$ 270,000				\$ 407,160
Subtotal - Electrical Systems \$ 6,417,106																			
SITE CIRC	ULATION		1	T	r	r – 1	<b></b>						T						
SC-1	Parking	Site		4	4	1	9		Quantity of parking is inadequate.	Add add shown to	itional parking to the site. Fig the right is an allowance.	gure 1	LS		\$ 175,000				\$ 263,900
SC-2	Student Drop-off	Site		4	4	1	9		Student drop-off is inadequate.	Add/moo Figure sho	dify student drop-off to the sit own to the right is an allowar	te. 1 nce. 1	LS		\$ 125,000				\$ 188,500
																	Subtotal - Site	Circulation	\$ 452,400
TECHNOL	OGY	1	1	1	1				1	1			1	1			1		1
-	Keter to 1ab 12 for breakdown				1									<u> </u>			Tech	nology Total	\$ 610,660

Note: Shaded items are shown for reference only and not included in the deficiency total.

Total Project Cost \$ 10,690,131



















































PS-2



PS-3



ES-1A



ES-1B



ES-5A



ES-5B



ES-7A



ES-7B

#### **TYNDALL CENTER**



#### TYNDALL CENTER

#### **GENERAL OVERVIEW**

Use:	Educational
Year Built:	1966
Total Area:	24,633 GSF
Floors:	1

#### **MAJOR FINDINGS**

Refer to the following charts for a summary of deficiencies by category and priority score. Note: Lower priority score equals highest urgency.








#### BERKLEY SCHOOLS

#### Comprehensive Academic Spaces, Facilities and Technologies Needs Assessment

#### Tyndall Center

			ltem No. Coo	des					Building Deficienc					
Address Bldg. Ar No. of F Year Bu Evaluat	s: 14501 Talbot, Oak Park, Michigan rea: 24,633 GSF Toors: 1 iilt: 1966 ion Date: January 2014	AB:     Accessibility Improvement       AD:     Academic/Space Deficient       BE:     Building Exterior       BI:     Building Interior       BS:     Building System       ES:     Electrical System       MS:     Mechanical System       PS:     Plumbing System       SC:     Site Circulation       SE:     Specialty Equipment/Other       IT:     Technology	t/Building Code ncies						Consequences of the ProblemNee1. Hazards1. C2. Interruption2. UI3. Deterioration3. N4. Utility4. A5. Energy5. D	d Frequency of Use ritical 1. Constant gent 2. Frequent ecessary 3. Occasional DA 4. Infrequent 5. Meager		1. Er 2. Lc 3. Pr 4. Pr	nergy column "X ower score equ oject Cost inclu roject Cost inclu	(" refers als high Jdes 50 Jdes 20
No.	Item/Description	Location	Photo No.	Cons.	. Need	Freq.	Score	Ener	gy Notes	Action	Qty.	Unit	Archite	ecturo
BUILDING	G EXTERIOR													000
BE-1	Aluminum Storefront and Doors	Classrooms	BE-1	3	3	2	8		System offers minimal thermal resistance (single glazing) and doors are in poor condition.	Replace with a better quality, higher thermal resistance storefront system with doors.	1,350	SF	\$ 75.00	\$ 10
BE-2	Foundation Wall	Building Perimeter	BE-2	2	2	2	6		Voids in perimeter foundation wall allows rodents to burrow under floor slab.	Add concrete sill wall or slab at building perimeter.	600	SF	\$ 22.00	\$
BE-3	Fascias	Entire Building	BE-3	3	3	2	8		Stone faced cement fascia panels are cracked and delaminated.	Replace fascia panels with a more durable material.	900	SF	\$ 25.00	\$ 2
BE-4	Soffits	Entire Building	BE-4	3	3	2	8		Cement plaster soffits are cracked and delaminated.	Replace soffits with a more durable material.	1,100	SF	\$ 525.00	\$ 57
BE-4	Steel Doors and Frames	Entire Building	BE-4	3	3	1	7		Deteriorated and rusted.	Replace with aluminum frames and FRP doors.	12	EA	\$ 2,800.00	\$ 3
BI-1	Original Hollow Metal, Wood Doors and Frames	Entire Building	BI-1	4	3	1	8		Deteriorated, nonfunctional and do not meet current code requirements.	Replace with wood doors and hollow metal frames (Dutch style doors at classrooms).	42	EA	\$ 2,350.00	\$ 9
BI-3	Carpet	Corridors		3	3	1	7		Carpet reaching life expectancy.	Replace carpet and resilient base.	9,950	SF	\$ 7.00	\$ 6
BI-4	Casework Cabinets	Classrooms, Work Room, Staff Lounge and Kiva.	BI-3A BI-3B	4	5	2	11		Poor condition.	Replace cabinets.	270	LF	\$ 300.00	\$ 8
BI-4	Lay-in Acoustical Ceilings	Corridors and Kiva	BI-4	4	3	1	8		Poor condition.	Replace acoustical ceilings, grid and lighting.	6,550	SF	\$ 5.75	\$ 3
BI-5	Accordion Folding Doors	Classrooms	BI-5	4	5	1	10		Poor condition, do not function well.	Replace with dutch style doors in HM frames.	7	EA	\$ 2,350.00	\$ 1
BI-6	Lay-in Acoustical Ceilings	Classrooms and Office Area	BI-6	4	3	1	8		Poor condition.	Replace acoustical ceilings, grid and lighting.	10,700	SF	\$ 5.75	\$ 6
BI-7	Coat Racks	Corridors	BI-7	4	5	1	10		Insufficient space to hang coats and store foot gear. Lack of lockers contributes to reported lice problems.	Add lockers.	192	LF	\$ 500.00	\$ 9
BI-8	Resilient Tile	Classrooms	BI-8						Fair to poor condition.	Replace resilient floor and base.	9,280	SF	\$ 4.75	\$ 4
BI-9	Room Security	Head End Room		1	1	1	3		Room door is not secure.	Recore door lock.	1	EA	\$ 75.00	\$
ACCESS	IBILITY IMPROVEMENT/BUILDING CODE													
AB-1	Toilet Rooms	Children Toilets	AB-1	1	4	2			Toilet fixtures are not sized to accommodate small children and do not meet current accessibility requirements.	Provide new plumbing fixtures, lighting, floor/wall/ceiling finishes, stalls and automatic door operators.	960	SF	\$ 40.00	\$ 3
AB-2	Exit Door Concrete Slabs	Classrooms	AB-2	1	4	2			Slab slope exceeds 1/4"/FT. maximum as required by building and BF code.	Replace concrete slabs at exit doors.	120	SF	\$ 115.00	\$ 1
MECHAN														
MS-1	Building Controls	Entire Building	MS-1	2	2	1	5		Existing pneumatic controls are outdated.	Provide new DDC controls throughout.	25,000	SF		
MS-2	Boiler	Boiler Room		1	1	1	3		Existing boiler is in poor condition; +48 year old.	Install two (2) new coilers, controls, combustion intake, stacks, etc.; approximately 1,000 MBH each.	1	LS		



#### Notes

to items that have an energy consumption impact, either increase or decrease. ner priority. ).8% mark-ups and fees for Facility Condition Analysis. ).5% mark-ups and fees for technology.

Electrical Mechanical 2014 Project Cos Unit Cost Subtotal Unit Cost Subtotal total 01,250 \$ 152,685 13,200 \$ 19,906 22,500 \$ 33,930 77,500 \$ 870,870 33,600 \$ 50,669 Subtotal - Building Exterior \$1,128,059 98,700 \$ 148,840 69,650 \$ 105,032 81,000 \$ 122,148 37,663 1.00 \$ 6,550 \$ 4.00 \$ 26,200 \$ 106,182 \$ 16,450 \$ 24,807 \$ 61,525 1.00 \$ 10,700 \$ 9.00 \$ 96,300 \$ 254,136 \$ 96,000 \$ 144,768 14,080 \$ 66,473 75 113 \$ Subtotal - Building Interior \$ 972,498 4.20 \$ 4,032 \$ 114,656 38,400 35.00 \$ 33,600 \$ \$ 13,800 \$ 20,810 Subtotal - Accessibility Improvements/Building Code \$ 135,467 \$ 124,410 3.30 \$ 82,500 \$ \$ 190,000.00 \$ 190,000 \$ 286,520

#### Tyndall Center

			It	em No. Cod	les					Building Deficiencie	es Priorities by Category	Notes										
Address: 14501 Talbot, Oak Park, Michigan Bldg. Area: 24,633 GSF No. of Floors: 1 Year Built: 1966 Evaluation Date: January 2014			Accessibility Improvement/ Academic/Space Deficient Building Exterior Building Interior Building System Electrical System Mechanical System Site Circulation Specialty Equipment/Other Technology	Building Code cies						Consequences of the ProblemNeed1. Hazards1. Cri2. Interruption2. Urg3. Deterioration3. Ne4. Utility4. AD5. Energy5. De	Frequency of Useical uent1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager		<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>									
No.	Item/Description		Location	Photo No.	Cons.	Need	l Freq	. Score	Energ	y Notes	Action	Qty.	Unit	Architectural Unit Cost Subtotal	Mechanical Unit Cost Subtotal	Electri Unit Cost	cal Subtotal	2014 Project Cost				
MS-3	HWH Pipe	Entire E	Building	MS-3	3	3	1	7		Existing pipe is in poor condition.	Replace with like and kind.	250	LF		\$ 5.25 \$ 1,313			\$ 1,979				
MS-4	HWH Pumps	Boiler F	Room		3	3	1	7		Existing HWH pumps are in fair to poor condition.	Replace with like and kind; approximate 120 GPM at 40 TDH.	2	EA		\$ 15,600.00 \$ 31,200			\$ 47,050				
MS-5	Pipe Insulation	Entire E	Building		4	4	1	9		Sections of missing insulation.	Install new insulation and labels.	100	LF		\$ 8.55 \$ 855			\$ 1,289				
MS-6	Horizontal UV - Heating and Ventilating Only	Entire I	Building	MS-6	3	3	1	7		Horizontal unit ventilators are in poor condition. Completely remove 12 units.	Provide perimeter HWH radiant ceiling panels.	250	LF		\$ 71.00 \$ 17,750			\$ 26,767				
MS-7	Infant Room Rooftop Units	Roof		MS-7	5	5	1	11		Existing rooftop units are beyond their useful life.	Install new DX rooftop units; approximately 3-tons each.	2	EA		\$ 15,000.00 \$ 30,000	\$ 5,455.00	\$ 10,910	\$ 61,692				
MS-8	Office HVAC	Fan Ro	oom 110	MS-8	3	3	2	8		Original HVAC units are in fair to poor condition.	Provide new indoor HVAC; approximate 7.5-ton unit; lower thru roof opening.	1	LS		\$ 27,000.00 \$ 27,000	\$ 6,535.00	\$ 6,535	\$ 50,571				
MS-9	Classroom HVAC Units	Roof		MS-9	4	4	2	10		Ten rooftop units are beyond their useful life; cooling only.	Replace with like and kind; 3-tons. Add HWH coil to ductwork.	10	EA		\$ 20,000.00 \$ 200,000	\$ 5,455.00	\$ 54,550	\$ 383,861				
MS-10	LMC Center HVAC	Roof		MS-10	4	4	1	9		Three existing rooftop units are beyond their useful life; cooling only.	Replace with like and kind; 3-tons each.	3	EA		\$ 15,000.00 \$ 45,000	\$ 5,455.00	\$ 16,365	\$ 92,538				
MS-11	Roof Exhaust Fans	Roof		MS-11	4	4	1	9		Existing roof exhaust fans are beyond their useful life.	Provide eight (8) new roof exhaust fans, average size is 600 CFM.	8	EA		\$ 3,500.00 \$ 28,000	\$ 175.00	\$ 1,400	\$ 44,335				
MS-12	Head End Air Conditioning	Head	End Room		4	5	1	10		Some issues with existing unit.	Install new split air conditioning unit; approximately 1.5-tons.	1	EA		\$ 8,500.00 \$ 8,500	\$ 500.00	\$ 500	\$ 13,572				
PHIMBIN	C SYSTEMS														Sub	total - Mechani	cal Systems	\$ 1,134,585				
PS-1	Add Classroom Sinks	Classro	ooms		3	3	5	11		Add a second sink to five (5) classrooms for hand washing.	Second sink required by code.	5	EA		\$ 1,200.00 \$ 6,000			\$ 9,048				
PS-2	Domestic Water Pipe	Entire I	Building		2	3	1	6		80% of existing domestic water pipe is galvanized steel.	Replace with copper pipe.	19,000	SF		\$ 3.25 \$ 61,750			\$ 93,119				
PS-3	Water Meter Isolation Valves	Boiler I	Room	PS-3	2	3	5	10		Existing gate valves at water meter are in poor condition.	Replace three (3), 2" gate valves.	3	EA		\$ 1,750.00 \$ 5,250			\$ 7,917				
PS-4	Sanitary Pipe	Entire E	Building		3	3	1	7	_	Sanitary pipe is in poor condition.	Replace accessible portions.	10,000	SF		\$ 4.35 \$ 43,500			\$ 65,598				
P3-5	water Coolers	Entire	Bullaing		4	4	I	Ŷ		Drinking fountains are wrong neight.	instali dii new drinking fountains.	8	EA		\$ 3,000.00 \$ 24,000	ubtotal - Plumb	ing Systems	\$ 211 874				
BUILDING	S SYSTEMS																ing systems	Ş 211,074				
BS-1	Fire Alarm System	Entire I	ouilding		2	3	3	8		Existing system is outdated and difficult to maintain.	Install new addressable system with smoke and CO detectors for Day Care.	1	LS			\$ 60,351.00	\$ 60,351	\$ 91,009				
BS-2	Emergency Lighting	Corrid	ors, Kiva		1	3	4	8		Spacing of existing emergency battery units exceeds requirements.	Install new units in existing fixtures.	20	EA			\$ 300.00	\$ 6,000	\$ 9,048				
BS-3	Public Address System	Entire I	building		2	3	2	7		No PA system.	Install new PA system included under Technology Assessment.						\$ -	\$-				
FLECTRIC																Subtotal - Build	ng Systems	\$ 100,057				
ELECTRIC	AL STOTEMO	T		1	T	T	T		-	Original electrical distribution equipment is	Replace the original distribution	T T			T I							
ES-1	Electrical Distribution System	Boiler I	Room	ES-1	2	3	1	6	<u> </u>	obsolete and a safety concern.	equipment with new.	2	EA			\$ 15,900.00	\$ 31,800	\$ 47,954				
ES-2	Electrical Panels	Corride	ors to Serve Classrooms		2	5	1	8	<u> </u>	are located behind doors	larger panels in new locations.	4	EA			\$ 4,875.00	\$ 19,500	\$ 29,406				
ES-3	Electrical Receptacles	Child l	Jse Areas	ES-3	1	3	2	6		Electrical receptacles in child care centers are required to be inaccessible to children.	Replace all receptacles with tamper resistant devices.	60	EA			\$ 55.00	\$ 3,300	\$ 4,976				
ES-4	Original Lighting Fixtures	Entire I	Building	ES-4	3	3	1	7	х	Original lighting fixtures with obsolete T12 fluorescent lamps.	Replace fixtures with more efficient T8 fluorescent lamps.	24,633	SF			\$ 9.00	\$ 221,697	\$ 334,319				
ES-5	Exit Lighting Fixtures	Path o	f Egress, Exterior Doors	ES-5	4	3	4	11	х	Additional exit signs are required to comply with code requirements.	Add Exit signs	19	EA			\$ 300.00	\$ 5,700	\$ 8,596				

#### Tyndall Center

			It	em No. Coo	les					Building Defici	iencies Priorities b	/ Category	Notes												
Address: 14501 Talbot, Oak Park, Michigan Bldg. Area: 24,633 GSF No. of Floors: 1 Year Built: 1966 Evaluation Date: January 2014		AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BI:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology								Consequences of the Problem1. Hazards2. Interruption3. Deterioration4. Utility5. Energy	Need 1. Critical 2. Urgent 3. Necessary 4. ADA 5. Desirable	Frequency of Use 1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager		<ol> <li>Lerergy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>											
No.	Item/Description		Location	Photo	Cons	Need	Frea.	Score	Energ	av Notes		Action	Qtv.	Unit	Architectural		Mechanical		al Electric		2014				
			200011011	No.	00110			000.0	2.11018						Unit Cost	Subtotal	Unit Cost	Subtotal	Unit Cost	Subtotal	Project Cost				
ES-6	Exterior Lighting	Exterio	or Doors		1	2	2	5	х	Lighting fixtures are required at each e	xit. Install efficie door.	nstall efficient LED fixtures in soffit above door.							\$ 1,020.00	\$ 17,340	\$ 26,149				
ES-7	Site Lighting	Parking	g Lot		3	5	2	10	х	Inadequate site lighting.	Install new	ooles with efficient LED fixtures	. 5	EA	\$ 6,000.00	\$ 30,000			\$ 6,960.00	\$ 34,800	\$ 97,718				
ES-7	Uninterruptible Power Supply	Main C	Office		1	3	4	8		Maintain operation during power interruptions	Provide 5 k <sup>1</sup> PA and Pha	VA UPS to serve Key Fob entry, ones	1	EA					\$ 11,300.00	\$ 11,300	\$ 17,040				
	•									·									Subtotal - Elect	ical Systems	\$ 566,159				
ACADEN	NIC/SPACE DEFICIENCIES	1		<b>r</b>	1	1	•		-				I.		<b>r</b>	1	-		1						
AD-1	Child Care Room Toilets	Day C	are Rooms		4	3	1	8		Child care rooms don't have dedicated toilets.	d Add toilets	to each day care room.	720	SF	\$ 175.00	\$ 126,000					\$ 190,008				
																	5	Subtotal - Ac	ademic/Space	Deficiencies	\$ 190,008				
SITE CIRC		1		1	1	1	<b>r</b>	-					1		1	1		1	1						
SC-1	Parking	Site			4	4	1	9	L	Quantity of parking is inadequate.	Add additic shown to th	onal parking to the site. Figure e right is an allowance.	1	LS		\$ 175,000					\$ 263,900				
SC-2	Student Drop-off	Site			4	4	1	9		Day care drop-off is inadequate.	Add/modif <sup>,</sup> Figure shov	y day care drop-off to the site. yn to the right is an allowance.	1	LS		\$ 125,000					\$ 188,500				
	•	-								• •								·	Subtotal - Sit	e Circulation	\$ 452,400				
TECHNO	LOGY	1		r	1	1	-						-	1	1	1		1	1						
IT-1	Refer to Tab 12 for breakdown				1	<u> </u>													<u> </u>						
1																			Tec	nnology Tota'	i > 404,126				

Note: Shaded items are shown for reference only and not included in the deficiency total.

Total Project Cost \$5,295,234















BI-3A



BI-3B













AB-1



AB-2

![](_page_163_Picture_1.jpeg)

![](_page_164_Picture_1.jpeg)

![](_page_165_Picture_1.jpeg)

![](_page_166_Picture_1.jpeg)

![](_page_167_Picture_1.jpeg)

![](_page_168_Picture_1.jpeg)

![](_page_169_Picture_1.jpeg)

MS-10

![](_page_170_Picture_1.jpeg)

MS-11

![](_page_171_Picture_1.jpeg)

PS-3

![](_page_172_Picture_1.jpeg)

![](_page_173_Picture_1.jpeg)

![](_page_174_Picture_1.jpeg)

![](_page_175_Picture_1.jpeg)

#### **DISTRICT-WIDE TECHNOLOGY**

#### MAJOR FINDINGS

Refer to the following charts for a summary of deficiencies by category and priority score. Note: Lower priority score equals highest urgency. District technology deficiency costs have been applied to individual buildings within the Facility Condition Index on a weighted per square foot basis.

![](_page_176_Figure_3.jpeg)

![](_page_176_Figure_4.jpeg)

![](_page_177_Picture_0.jpeg)

#### BERKLEY SCHOOLS

#### Comprehensive Academic Spaces, Facilities and Technologies Needs Assessment

#### District-Wide Technology

			H	tem No. Co	des					Building Deficiencies Priorities by Category		Notes								
Address: Various Bldg. Area: N/A No. of Floors: N/A Year Built: N/A Evaluation Date: January 2014			Accessibility Improvemen Academic/Space Deficie Building Exterior Building Interior Building System Electrical System Mechanical System Plumbing System Site Circulation Specialty Equipment/Othe Technology	nt/Building Co ancies er	de					Consequences of the ProblemNeedFrequence1. Hazards1. Critical1. Consta2. Interruption2. Urgent2. Frequence3. Deterioration3. Necessary3. Occas4. Utility4. ADA4. Infrequence5. Energy5. Desirable5. Meag	ant ent sional uent ler		<ol> <li>Energy column "X" refer</li> <li>Lower score equals high</li> <li>Project Cost includes 50</li> <li>Project Cost includes 20</li> </ol>	s to items that have an energ ner priority. ).8% mark-ups and fees for Fc ).5% mark-ups and fees for te	gy consumption impact, eith acility Condition Analysis. chnology.	er increase or de	ecrease.			
No.	Item/Description		Location	Photo	Cons.	Need	Freq.	Score	Energy	y Notes/Action	Qty.	Unit	Architectural	Mechanical	Electrical	Techr	nology	2014 Project Cost		
ADMINIS	TRATIVE SYSTEMS	<u> </u>		140.		<u> </u>			_			_				Unit Cost	30010101	110/001 0031		
IT-1	Door Entry Cameras	District <sup>,</sup>	-Wide		1	1	1	3		Camera and intercom system enables office staff to see and speak with visitors before allowing entry. Need to consider a replacement plan for these systems as well as standardizing. There is a desire to be able to lock/unlock all doors in the building from a central location. buildings - 4 high school, 1 at all others.	e 12 9	EA				\$ 8,000.00	\$ 96,000	\$ 115,680		
IT-2	Finance Student Information	District	-Wide		2	3	2	7		More professional development on the use of Skyward modules is needed.	1	EA				\$ 7,500.00	\$ 7,500	\$ 9,038		
IT-3	Food Service	District	-Wide		2	2	2	6		Point-of-sale hardware is currently 4 years old. Need to develop a plan for the replacement of this POS hardware.	13	EA				\$ 6,500.00	\$ 84,500	\$ 101,823		
IT-4	Key Fob Entry	District	-Wide		1	1	1	3		District standard for number of doors with fob entry at each level (3 elementary, 4 middle school, 6 high school). Principals have requested that more doors at their buildings be equipped. System was standardized two years ago. MB- 32 required. Quote - \$3k/door, \$6.5K district controller.	32	EA				\$ 3,200.00	\$ 102,400	\$ 123,392		
IT-5	Media Circulation	District	-Wide		2	3	2	7		Need a system to monitor library books being taken from the media center without being checked out. Consider an RFID or other system to use in books and scanner at each media center entrance/exit. \$25K per building.	n I	LS				\$ 175,000.00	\$ 175,000	\$ 210,875		
		District	-Wide												Subto	tal - Administro	ative Systems	\$ 560,807		
IT-6	Classroom Clocks	District:	-Wide		1	2	1	4	Г	Limited visibility on clocks, also limited to 12 clocks per zone. Replace clock system in each building based on Primex system, 301 classrooms*120%=362 clocks. 15 transmitters. \$2,000/license (1 time).	e 1	LS				\$ 152,560.00	\$ 152,560	\$ 183,835		
IT-7	Classroom Televisions	District	-Wide		2	3	2	7		Many rooms have 32" CRT TVs not in use because 70-80% of classrooms have projectors. Project will remove all TVs and free up some electrical circuits for repurposing.	200	EA				\$ 190.00	\$ 38,000	\$ 45,790		
IT-8	Projector and Sound System	High So	chool Auditorium		2	2	3	7		District auditorium projection and audio systems need to be updated to handle digital audio and video. \$32,000 speakers/amp, \$13,000 mixing board, \$12,000 wireless microphone system, \$2,500 MP3, \$10,000 intercom, \$14,000 projector, \$9,000 screen, \$5,000 cabling, \$9,000 Crestron controller.	d 1	LS				\$ 120,000.00	\$ 120,000	\$ 144,600		
IT-9	Production Equipment	High So	chool Auditorium		2	2	3	7		District auditorium equipped with new HD cameras and TriCaster editor.	1	LS				\$ 150,000.00	\$ 150,000	\$ 180,750		
IT-10	Collaboration Center	High So	chool		2	2	3	7		Two new projectors and sound system, use existing motorized screen	IS. 1	LS				\$ 14,000.00	\$ 14,000	\$ 16,870		
IT-11	Public Address System	District	-Wide		1	1	1	3		Issues with PA system and phone system interface locking up. Need PA system that will interface with a modern phone system. Look for a system that supports cell phone access for emergencies. \$29K/elem, \$47K/MS, \$66/HS	a a 1	LS				\$ 363,000.00	\$ 363,000	\$ 437,415		

![](_page_177_Picture_5.jpeg)

#### District-Wide Technology

				tem No. Co	des					Building Deficiencies Priorities by Category	Notes										
Address Bldg. Are No. of Fl Year Bui Evaluati	Address: Various Bldg. Area: N/A No. of Floors: N/A Year Built: N/A Evaluation Date: January 2014		Accessibility Improvemen Academic/Space Defici Building Exterior Building Interior Building System Electrical System Mechanical System	nt/Building Co encies	de					Consequences of the ProblemNeedFrequences1. Hazards1. Critical1. Critical2. Interruption2. Urgent2. Frequences3. Deterioration3. Necessary3. October4. Utility4. ADA4. Inferences	uency of U onstant equent ccasional frequent	e	<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>								
		PS: SC: SE: IT:	Plumbing System Site Circulation Specialty Equipment/Oth Technology	ner						5. Energy 5. Desirable 5. Me	eager										
No.	Item/Description		Location	Photo No.	Cons.	Need	Freq.	Score	e Energ	y Notes/Action	Qt	y. Ur	it Architectural	Mech	anical Subtotal	Elec	trical Subtotal	Techr	ology Subtotal	2014 Project Cost	
IT-12	Security Camera Update	District-	-Wide		1	1	1	3		Replace 64 cameras at high school, 30 at Norup. High school sys is 10 years old. Expand coverage to include elementary bldgs. I based system is needed to permit onsite and remote viewing of cameras using smartphones or other devices. Add 32 @ Anderso per elementary, include Tyndall.	stem IP- 25 on, 12	2 E.						\$ 1,800.00	\$ 453,600	\$ 546,588	
IT-13	Sound Field	District-	-Wide		2	3	2	7		System installed in elementary buildings, many not functioning du broken mics or other issues. Parts very difficult to obtain. Set a di standard for grade-level usage to determine replacement sites. elementary classrooms, 8 per secondary (band orchestra, art, ch etc.).	ue to istrict All 19 noir,	2 E						\$ 1,500.00	\$ 288,000	\$ 347,040	
IT-14	Video Distribution System	District-	-Wide		2	2	1	5		Current RF system is not functioning due to bad modulators, need distribution system to leverage classroom projectors instead of Cf televisions. Convert from older analog system to current digital system. Demolish RF system and replace with digital system. 301 classrooms and media center. Include encoder carts. \$25,000/buildihng and \$350/classroom.	d RT	Ľ						\$ 550,000.00	\$ 550,000	\$ 662,750	
IT-15	Video Editing	Elemer	ntary Buildings		2	3	3	8		Elementary video editing needs two iPads with Makayama video accessory kits to support recording and editing video projects for students. Two systems x 7 elementaries = 14 Makayama, iPad, plu accessories.	D r US <sup>].</sup>	ι Ε.						\$ 950.00	\$ 13,300	\$ 16,027	
IT-16	Video Editing	Middle	School		2	3	3	8		Middle school video editing class needs 15 iPads with Makayama video accessory kits to teach class instead of 1 PC for 15 students Two middle schools x 15 stations = 30 total.	a rs. 31	) E.	<b>x</b>					\$ 950.00	\$ 28,500	\$ 34,343	
IT-17	Video Editing	High Sc	chool		2	3	2	7		High school video editing class needs 20 updated PCs that can handle video editing and cameras to support recording. Furniture Current Tricaster cannot handle HD formats.	re? 2	3 E.						\$ 3,400.00	\$ 78,200	\$ 94,231	
IT-18	Video Editing	High Sc	chool		2	3	2	7		High school video equipment, studio renovations. Replace/upgr cameras (HD), microphones, amps, Telemetrics, cabling, green screen.	rade 1	Ľ						\$ 212,000.00	\$ 212,000	\$ 255,460	
IT-19	Video Editing	High Sc	chool		2	3	2	7		TriCaster for high school video editing (current system cannot have HD formats).	ndle 1	Ľ						\$ 35,000.00	\$ 35,000	\$ 42,175	
IT-20	Video Editing	District-	-Wide		2	3	2	7		District needs 2 upgraded video editing computers to support HE digital format video editing.	D and	E,	Λ.					\$ 3,400.00	\$ 6,800	\$ 8,194	
DISTRICT																	Subt	otal - Audio/V	ideo Systems	\$ 3,016,067	
IT-21	Disaster Recovery	Avery (	Center		1	1	2	4		Expand storage capabilities of current EqualLogic SAN. System in has twelve 1 TB drives and is near capacity limit of 6.5 TB. Increas storage capacity for students and staff by replacing 1 TB drives w larger drives.	now se vith <sup>1</sup>	E						\$ 40,000.00	\$ 40,000	\$ 48,200	
IT-22	Disaster Recovery	Anders	ion Middle School		1	1	2	4		Install a local SAN at Anderson to accommodate file recovery. E fiber and fiber channel connection can be used between Ander and Avery to permit mirrored backup of files for essential data su Skyward.	Dark rson uch as <sup>1</sup>	E,						\$ 35,000.00	\$ 35,000	\$ 42,175	
IT-23	Fire Suppression	Avery ( Middle	Center/Anderson School		1	1	3	5		Install a chemical-based fire suppression system at Avery and Anderson. Chemical-based system will not damage the headen room equipment like a water-based system would.	nd 2	E	х					\$ 35,000.00	\$ 70,000	\$ 84,350	

#### District-Wide Technology

		-	ltem No. Co	des					Building Deficiencies Priorities by Category	Notes														
Addres Bldg. A No. of F Year Bu Evaluat	s: Various ea: N/A loors: N/A ilt: N/A ion Date: January 2014	AB: Accessibility Improveme AD: Academic/Space Defici BE: Building Exterior BI: Building System ES: Electrical System MS: Mechanical System SC: Site Circulation SE: Specialty Equipment/Ott II: Technology	her	de					Consequences of the ProblemNeed1. Hazards1. Critical2. Interruption2. Urgent3. Deterioration3. Necessary4. Utility4. ADA5. Energy5. Desirable	Frequency of Use 1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager			<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>											
No.	Item/Description	Location	Photo	Cons.	. Need	Freq.	Scor	e Energ	y Notes/Action		Qty.	Unit	Architectural	Ν	lechanical	Elec	ctrical	Tech	nology	2014				
IT-24	Generator - Portable	N/A	NO.	2	1	2	5	Γ	Obtain a portable generator with inverter to be shared amor other facilities. This generator would be transported to a bldg has no power to maintain phone and PA system operation fa longer period of time than can be supported by UPS battery	ong all dg that for a / system.	2	EA	Unit Cost Subto	ral Unif C	Subtotal	Unit Cost	Subtotal	\$ 2,600.0	5,200	\$ 6,266				
HARDW	ARF																	Subtotal - Di	trict Headend	\$ 180,991				
IT-25	Desktops - Phase 1	District-Wide		2	3	1	6		Replace desktop computers purchased between 2000 and 2 phase will replace Windows XP systems. Phases are schedule consecutive years. Includes 5% spares.	2007. This led over	393	EA						\$ 900.0	5 \$ 353,700	\$ 426,209				
IT-26	Desktops - Phase 2	District-Wide		2	3	1	6		Replace desktop computers purchased between 2008 and 2 Phased replacement will maintain standardization of models the District. Includes 5% spares.	2010. s across	395	EA						\$ 900.0	) \$ 355,500	\$ 428,378				
IT-27	Desktops - Phase 3	District-Wide		2	3	1	6		Replace desktop computers purchased between 2011 and 2 phase completes the replacement of all desktop computers. Includes 5% spares.	2013. This s.	406	EA						\$ 900.0	) \$ 365,400	\$ 440,307				
IT-28	Document Cameras	District-Wide		4	3	1	8		Inventory shows 301 instructional spaces. Install new docume cameras in all locations at same time.	ent	301	EA						\$ 530.0	\$ 159,530	\$ 192,234				
IT-29	Laptops - Phase 1	District-Wide		2	3	1	6		Replace laptop computers purchased between 2004 and 20 phase replaces the oldest laptops currently in use in the Distri Includes 5% spares and replacement carts.	009. This rict.	167	EA						\$ 1,100.0	) \$ 183,700	\$ 221,359				
IT-30	Laptops - Phase 2	District-Wide		2	3	1	6		Replace laptop computers purchased between 2010 and 20 Phased replacement will maintain standardization of models the District. Includes 5% spares and replacement carts.	011. s across	214	EA						\$ 1,100.0	) \$ 235,400	\$ 283,657				
IT-31	Laptops - Phase 3	District-Wide		2	3	1	6		Replace laptop computers purchased between 2012 and 20 phase completes the replacement of all laptop computers. 5% spares and replacement carts.	013. This Includes	120	EA						\$ 1,100.0	\$ 132,000	\$ 159,060				
IT-32	Mobile Devices - Phase 1	District-Wide		2	3	1	6		Replace mobile devices purchased in 2011 and half of the m devices purchased in 2012. This will replace oldest mobile de and level out the quantities purchased in each phase. Inclue spares and carts.	mobile levices udes 5%	268	EA						\$ 600.0	5 \$ 160,800	\$ 193,764				
IT-33	Mobile Devices - Phase 2	District-Wide		2	3	1	6		Replace the second half of the mobile devices purchased in Phased replacement will maintain standardization and equal quantities per year. Includes 5% spares and carts.	n 2012. alize	235	EA						\$ 600.0	5 \$ 141,000	\$ 169,905				
IT-34	Mobile Devices - Phase 3	District-Wide		2	3	1	6		Replace mobile devices purchased in 2013. This phase comp replacement of mobile devices. Includes 5% spares and car	npletes irts.	121	EA						\$ 600.0	\$ 72,600	\$ 87,483				
IT-35	Network Printers - Phase 1	District-Wide		2	3	1	6		Replace network printers purchased between 2003 and 2008 phase replaces the oldest network printers in the District.	98. This	120	EA						\$ 320.0	38,400	\$ 46,272				
IT-36	Network Printers - Phase 2	District-Wide		2	3	1	6		Replace network printers purchased between 2009 and 2013 phase completes the replacement of network printers.	3. This	20	EA						\$ 320.0	5 6,400	\$ 7,712				
IT-37	Scanners	District-Wide		2	3	1	6		Replace 34 legacy scanners purchased between 2004 and 2 used in labs or by Special Education. Obtain a model that is compatible with new workstations and is standardized across District.	2011, s ss the	34	EA						\$ 95.0	) \$ 3,230	\$ 3,892				
	-	-	-	•	-	-			•				• •		•	-	•		al - Hardware	S 2.660.230				
## District-Wide Technology

Address: Various Bldg. Area: N/A No. of Floors: N/A Year Built: N/A Evaluation Date: January 2014		Item No. Codes							Building Deficiencies Priorities by Category						Notes						
		AB:       Accessibility Improvement         AD:       Academic/Space Defici         BE:       Building Exterior         BI:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Oth         IT:       Technology	nt/Building Co encies ner	ode					Consequences of the Problem <ol> <li>Hazards</li> <li>Interruption</li> <li>Deterioration</li> <li>Utility</li> <li>Energy</li> </ol>	Need 1. Critical 2. Urgent 3. Necessary 4. ADA 5. Desirable	Frequency 1. Constar 2. Frequer 3. Occasic 4. Infreque 5. Meager	of Use ht bnal ent		<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>							
No. Item/Description		Location	Photo No	Cons	. Need	Freq.	Score	e Energy	gy Notes/Action G		Qty.	Unit	Archite	Architectural Me		Mechanical Electrical		Techr	ology	2014 Project Cost	
INTERAC	TIVE SYSTEMS													Utili COSI	30010101	0111 C031 30010101	Utili COSI	30010101	Unit Cost	30010101	110,001 0001
IT-38	Projectors	District-Wide		2	3	1	6		Need to set a District standard for in whiteboards - device for each leve school) and quantities. Currently ho Promethean boards scattered acro Smart interactive projectors. Budget Centers.	teractive projectors of I (elemtary, middle so ave 27 SmartBoards o ss District. Rogers just covers all classroom	and shool, high r installed 18 is and Media	301	EA						\$ 3,490.00	\$ 1,050,490	\$ 1,265,840
	KINEDASTDIICTIIDE																	Su	ıbtotal - Intera	ctive Systems	\$ 1,265,840
IT-39	Fiber Network	District-Wide/Avery Center		1	1	1	3		Provide fiber plant inspection/repair most of which is above ground. Ha lashing damage. Eight strands of fit phone, 2 for data, 2 for TV which ar place. \$6,000 inspection, \$8,000 rep	for District's 7-mile fik ve had recent outag per running to each b e now dark. No Miss pairs.	per network, les due to oldg - 2 for Dig service in	1	LS						\$ 14,000.00	\$ 14,000	\$ 16,870
IT-40	Network Anti-Virus	District-Wide/Avery Center		1	1	1	3		Provide updated server for Symante and manage virus defintions, detec and 10/100 network speeds create software up to date.	ec Anti-Virus system to tion, and alerts. Curr challenges to keepin	o distribute ent server g virus	1	LS						\$ 3,500.00	\$ 3,500	\$ 4,218
IT-41	Network Content Filter	District-Wide		2	2	1	5		Provide redundant iBoss content filh support failover. Current failover re Internet.	er with dual power su sults in open access t	ipplies to the	1	LS						\$ 5,000.00	\$ 5,000	\$ 6,025
IT-42	Network Core	District-Wide		1	1	1	3		Replace building core and edge sv support 10 Gig between buildings o PoE for VoIP and security cameras.	vitches with new devi nd 1 Gig to the deskt	ices that will top, include	1	LS						\$ 390,000.00	\$ 390,000	\$ 469,950
IT-43	Network Edge Switches	District-Wide		1	1	1	3		Replace edge switches with device desktop and provide PoE ports for v system. Current Cisco 2950 switche support 1 Gig to the desktop.	es that support 1 Gig t vireless access points, s do not have PoE an	o the , VoIP phone nd do not	1	LS						\$ 480,000.00	\$ 480,000	\$ 578,400
IT-44	Network Cabling (Category 6)	District-Wide		2	1	1	4		Replace Category 5 cabling that d 10/100/1000 networking.	oes not meet specific	cations for	1	LS						\$ 20,000.00	\$ 20,000	\$ 24,100
IT-45	Network Cabling (Category 6)	District-Wide		2	1	1	4		Replace Category 5 cabling that d 10/100/1000 networking.	oes not meet specific	cations for	1	LS						\$ 20,000.00	\$ 20,000	\$ 24,100
IT-46	Network Cabling (Category 6)	District-Wide		2	1	1	4		Replace Category 5 cabling that d 10/100/1000 networking.	oes not meet specific	cations for	1	LS						\$ 20,000.00	\$ 20,000	\$ 24,100
IT-47	Network Cabling (Category 6)	District-Wide		2	1	1	4		Replace Category 5 cabling that d 10/100/1000 networking.	oes not meet specific	cations for	1	LS						\$ 20,000.00	\$ 20,000	\$ 24,100
IT-48	Network Firewall	District-Wide		2	2	1	5		Provide network firewall that suppo buildings. Current Fortigate 200B fro connectivity. 10Gig interface with su	rts 10 Gig connectivit om 2008 only supports upport.	y between 5 Gig	1	LS						\$ 46,000.00	\$ 46,000	\$ 55,430
IT-49	Wireless Systems	District-Wide		1	2	1	4		High School and Norup have comp Other schools have one access poi provides full coverage - all building	lete WiFi coverage ( <i>F</i> nt in the media cente s.	Aerohive). er. Budget	405	EA						\$ 1,135.00	\$ 459,675	\$ 553,908
IT-50	Communications	Hurley Field/Anderson Middle School		2	2	3	7		Directional bore to Anderson (\$9,00 terminations), VoIP phone, external data drops (\$7,000).	0 includes conduit, M wireless access point	M fiber, , multiple	1	LS						\$ 16,000.00	\$ 16,000	\$ 19,280
																		Subt	otal - Network	Infrastructure	\$ 1,800,481

## District-Wide Technology

		Item No. Codes							Building Deficiencies Priorities by Category	Notes										
Address: Various Bldg. Area: N/A No. of Floors: N/A Year Built: N/A Evaluation Date: January 2014		AB:       Accessibility Improvement/Building Code         AD:       Academic/Space Deficiencies         BE:       Building Exterior         BS:       Building Interior         BS:       Building System         ES:       Electrical System         MS:       Mechanical System         PS:       Plumbing System         SC:       Site Circulation         SE:       Specialty Equipment/Other         IT:       Technology							Consequences of the ProblemNeedFrequences1. Hazards1. Critical1. Const2. Interruption2. Urgent2. Frequences3. Deterioration3. Necessary3. Occord4. Utility4. ADA4. Infred5. Energy5. Desirable5. Meage	Frequency of Use 1. Constant 2. Frequent 3. Occasional 4. Infrequent 5. Meager			<ol> <li>Energy column "X" refers to items that have an energy consumption impact, either increase or decrease.</li> <li>Lower score equals higher priority.</li> <li>Project Cost includes 50.8% mark-ups and fees for Facility Condition Analysis.</li> <li>Project Cost includes 20.5% mark-ups and fees for technology.</li> </ol>							
No.	Item/Description	Location	Location Photo Cons. Need Freq. Score Ene		e Energ	rgy Notes/Action Qty.		Unit	Archite Unit Cost	ectural Subtotal	Mechanical Unit Cost Subtotal		Elec Unit Cost	strical Subtotal	Techno Unit Cost	ology Subtotal	2014 Project Cost			
PHONE S	YSTEMS				<u> </u>			_												
IT-51	Phone System - Alarms	District-Wide		1	1	1	3		Review all alarm sensors, replace bad alarm sensors and install fire/smoke alert sensors in all buildings. Includes boilers, refrigerators, panic buttons, sump pumps, carbon monoxide, headend environmental sensors, etc. Test and corrective actions in budget.		EA							\$ 5,000.00	\$ 45,000	\$ 54,225
IT-52	Phone System - Cellular Coverage	District-Wide		1	1	3	5		Install antenna system to boost cellular phone coverage inside all buildings.	1	LS							\$ 432,000.00	\$ 432,000	\$ 520,560
IT-53	Phone System Replacement	District-Wide		1	1	1	3		Replace all phone controllers and handsets including voicemail, unified messaging, E-911, call accounting, automated attendant, fa servers, UPS, 5 year warranty. 464 digital phones, 23 analog phones New system will not use "9" to access an outside line.	ах, ;. 487	EA							\$ 490.00	\$ 238,630	\$ 287,549
													Subtotal - Ph	one Systems	\$ 862,334					
IT-54	Desktop Management	Avery Center		3	3	2	8	Γ	Using Ghost to image workstations, but not working effectively in par due to 10/100 network speeds. Need a system to manage/image workstations. KACE quoted with 5 years of support. Budget includes software/hardware inventory, remote software distribution/removal, patch management, help desk management, disk imaging, softwar deployment/updates, and system configuration.	rt , 1 re	LS							\$ 110,000.00	\$ 110,000	\$ 132,550
IT-55	Network Operating System	District-Wide/Avery Center		2	2	2	6		Currently running Novell 6.5. Many apps do not run on Novell (Skyward, RecPro, Read Naturally, Pearson apps, etc.). Need to move away from Novell to Active Directory which would support in- house VMWare servers, VPN access, network printers with print management.		LS							\$ 64,000.00	\$ 64,000	\$ 77,120
IT-56	Servers	Avery Center		1	1	1	3		District has three PowerEdge 2950 servers (new in 2005) to run Netware 6.5, EZ Care, KidPix, Kidspiration, Suse Linux for DNS.	2	EA							\$ 7,000.00	\$ 14,000	\$ 16,870
IT-57	Servers - VMWare	Avery Center		1	1	1	3		VMWare servers (PowerEdge R710 and PowerEdge 1855 Blade) are hosted at Berkley Schools for GroupWise, Manhattan app, DNS, storage, Skyward, Ghost, SuccessMaker, RecPro. Preferred solution i to have in-house VMWare servers instead of off premises, but netwo OS change to Active Directory is necessary. Need to obtain in-hous VMWare servers if services are brought back to Berkley from Oaklan Schools.	is yrk 1 ;e nd	LS							\$ 42,000.00	\$ 42,000	\$ 50,610
1																		Subtotal - Se	rvor Svetome	\$ 277 150

Building	Square Footage	(	Cost		
Anderson Middle School	95,908	\$	1,573,457		
Angell Elementary School	40,981	\$	672,330		
Avery Center	37,307	\$	612,055		
Berkley High School	227,326	\$	3,729,487		
Burton Elementary School	48,272	\$	791,945		
Norup International School	89,603	\$	1,470,018		
Pattengill Elementary School	46,314	\$	759,823		
Rogers Elementary School	37,222	\$	610,660		
Tyndall Center	24,633	\$	404,126		
Total		\$	10,623,901		

Total Project Cost \$ 10,623,901